#### REPORT RESUMES

ED 013 022

FL 000 347

SOME EFFECTS OF TEACHING FOREIGN LANGUAGE IN THE ELEMENTARY SCHOOLS.

BY- CAMPBELL, WILLIAM J. HICKSVILLE PUBLIC SCHOOLS, N.Y.

FUB DATE DEC 62

EDRS PRICE MF-\$0.50 HC-\$3.16 79P.

DESCRIPTORS- \*ACADEMIC ACHIEVEMENT, \*ANALYSIS OF VARIANCE, \*EXPERIMENTAL GROUPS, \*FLES, \*LANGUAGE RESEARCH, AUDIOLINGUAL METHODS, ACADEMIC PERFORMANCE, COMPARATIVE ANALYSIS, INTELLIGENCE LEVEL, SECOND LANGUAGE LEARNING, INDIVIDUAL DIFFERENCES, STATISTICAL DATA, HICKSVILLE FUBLIC SCHOOLS, NEW YORK,

THE POSSIBLE EFFECTS OF FLES UPON STUDENT ACHIEVEMENT IN OTHER SUBJECT AREAS WAS THE BASIC PROBLEM OF A STUDY IN THE HICKSVILLE, N.Y. FUBLIC SCHOOLS. FOLLOWING A SURVEY OF LITERATURE ON THE PROS AND CONS OF FLES PROGRAMS, THE REPORT CONSIDERS THE PERFORMANCE OF THE EXPERIMENTAL GROUP, WITH CONTINUOUS FLES INSTRUCTION STARTING IN THE FIRST GRADE, AND THAT OF THE CONTROL GROUP, MADE UP OF STUDENTS ENTERING THE SCHOOL SYSTEM AFTER THE FIRST GRADE. THE DATA, WHICH SUGGESTS THAT THE EFFECTS OF FLES ARE POSITIVE, COVER TEACHER GRADES IN READING, LANGUAGE ARTS, ARITHMETIC, CITIZENSHIP EDUCATION, AND SCIENCE, AS WELL AS ACHIEVEMENT SCORES IN READING VOCABULARY, READING COMPREHENSION, ARITHMETIC REASONING, ARITHMETIC FUNDAMENTALS, MECHANICS OF ENGLISH, AND SPELLING. ANALYSIS OF THE FINDINGS CONSIDERS THE I.Q. AND DISTINGUISHES BETWEEN THE PERFORMANCE OF MALES AND FEMALES. FIFTY-FOUR PAGES OF STATISTICAL TABLES REINFORCING THE RESEARCH PRECEDE A BIBLIOGRAPHY. (GJ)

### "SOME EFFECTS OF TEACHING FCREIGN LANGUAGE IN THE ELEMENTARY SCHOOLS\*"

SUBMITTED BY:

WILLIAM J. CAMPBELL
DIRECTOR OF RESEARCH
HICKSVILLE PUBLIC SCHOOLS

\* This study was supported in part by the Division of Research, State Education Department, Albany, New York.

DECEMBER 1962

U.S. DEPARTMENT OF HEALTH, EDUCATION & WELFARE OFFICE OF EDUCATION

THIS DOCUMENT HAS BEEN REPRODUCED EXACTLY AS RECEIVED FROM THE PERSON OR ORGANIZATION ORIGINATING IT. POINTS OF VIEW OR OPINIONS STATED DO NOT NECESSARILY REPRESENT OFFICIAL OFFICE OF EDUCATION POSITION OR POLICY.

FL 000 347

#### TABLE OF CONTENTS

	Page #	
INTRODUCTION	. 1	
REVIEW OF LITERATURE	1	
Hypotheses	8	
METHOD	9	
SUMMARY AND CONCLUSION	11	
Analysis of Variance Tables	Appendix	Α
Analysis of Students Dropped from Analysis of Students Dropped from	Appendix	В
NUMBERS OF STUDENTS IN VARIOUS	APPENDIX	С

#### INTRODUCTION

FOREIGN LANGUAGE TRAINING IN OUR ELEMENTARY SCHOOLS HAS REACHED TREMENDOUS PROPORTIONS SINCE WORLD WAR II. IN MANY SCHOOLS THROUGHOUT THE COUNTRY, FLES PROGRAMS HAVE BEEN INTRODUCED INTO THE SCHOOL PROGRAMS IN EVERY SCHOOL YEAR FROM K - 6TH GRADE. THE NUMBER OF SUCH PROGRAMS HAS CONTINUED TO GROW UNTIL IT APPEARS THAT IN MANY CITIES, EARLY INITIATION INTO FOREIGN LANGUAGE STUDY IS NOW TAKEN FOR GRANTED, AND HAS BECOME AS MUCH A FART OF THE CURRICULUM AS THE MORE TRADITIONAL SUBJECTS.

#### REVIEW OF LITERATURE

Many voices have been raised in praise of such programs, while some have been attacking them. Marshall, Kays, Ford and Negronida (1960) feel that there are too many disadvantages to a FLES program and the disadvantages outweigh the advantages. They feel that foreign language training (to be effective) should not be for a short time each day. Further, it is maintained that there is not time for longer classes. They claim that foreign language study takes up valuable time which should be given to other work. The difficulty of obtaining well qualified teachers is also stressed as a problem.

HOPPOCK (1957) BELIEVES THAT BILINGUALISM IN YOUNG CHILDREN RETARDS THE PROPER LEARNING OF THE MOTHER TONGUE. OLDER CHILDREN, SHE CLAIMS, LEARN MORE RAPIDLY THAN YOUNG ONES. AT PRESENT, IT IS DIFFICULT TO GIVE A STARTING AGE FOR FOREIGN LANGUAGE TRAINING BECAUSE THERE IS LITTLE OR NO RESEARCH UPON WHICH TO BASE A CONCLUSION. HOPPOCK MAINTAINS THAT SINCE MOST PEOPLE USE FOREIGN LANGUAGE WHEN THEY ARE ADULTS, THE TIME TO STUDY IT SHOULD BE NEAR ADULTHOOD. SHE STATES THAT IT IS FAR TOO EXPENSIVE TO TRAIN CHILDREN, ESPECIALLY IN LIGHT OF THE RETURNS IT BRINGS. IN ANOTHER ARTICLE (1957), HOPPOCK CLAIMS THAT WHILE CHILDREN MAY HAVE LEARNED SOME ELEMENTS OF A FOREIGN LANGUAGE, NO RESEARCH SHOWS THAT THE CHILD CAN COMMUNICATE IN THE LANGUAGE WITH A FOREIGN SPEAKING PERSON.

ANOTHER POINT OF DISSENTION AGAINST FLES PROGRAM IS RAISED BY HUGHES (1963). He BASICALLY DOES NOT ACCEPT THE IDEA THAT THERE IS A NEED FOR PROFICIENCY IN ANY LANGUAGE OTHER THAN ENGLISH. IF FOREIGN LANGUAGES ARE TAUGHT, HE CLAIMS THAT OTHER BASIC SKILLS IN THE CURRICULUM WILL BE NEGLECTED. HE FEELS THAT FOREIGN LANGUAGE IS A SUBJECT TO BE LEARNED AND GRADED, AND THAT MOST HIGH SCHOOL TEXTS ARE BASED UPON A GRAMMAR APPROACH INSTEAD OF A CONVERSATIONAL ONE.

IN WHAT SEEMS TO BE A POINT WITH WHICH THERE IS NO ARGUMENT (IF TAKEN LITERALLY AND NARROWLY) ADAMS AND BOLTON (1956) CLAIM THAT LEARN-ING A FOREIGN LANGUAGE DOES NOT NECESSARILY MAKE PEOPLE FEEL KINDLY TOWARD OTHER NATIONS, AND THEY DO NOT SUPPORT THE IDEA OF FLES PROGRAMS.

IN SPITE OF SUCH DISSENTING OPINIONS, FLES HAS GAINED WIDE POPULARITY AND HAS RECEIVED SUPPORT FOR MANY REASONS. ONE OF THE EARLY INFLUENTIAL VOICES WHICH SUPPORTED SUCH PROGRAMS WAS THAT OF STATE COMMISSIONER
OF EDUCATION McGrath, WHO STATED IN 1952 (EATON, 1957) THAT "EDUCATORS FROM
ELEMENTARY SCHOOL TO TOP LEVELS OF UNIVERSITY SYSTEMS OUGHT TO GIVE IMMEDIATE ATTENTION TO THE IMPORTANCE OF EARLY INTRODUCTION TO FOREIGN LANGUAGE



STUDY IN OUR EDUCATIONAL SYSTEM. HE ADDED (McGrath, 1953) THAT "SOME EXPERIENCES WHICH I HAVE HAD AS U.S. COMMISSIONER OF EDUCATION HAVE LED ME TO FEEL PARTICULARLY THAT THE AMERICAN SCHOOLS CAN MAKE A FURTHER CONTRIBUTION TO WINNING THE PEACE BY THE EARLY TEACHING OF FOREIGN LANGUAGES.

ARGUMENTS IN FAVOR OF FOREIGN LANGUAGE IN THE ELEMENTARY SCHOOL WHICH ARE BROADEST IN SIGNIFICANCE ARE THOSE WHICH SEE SOCIAL IMPLICATIONS IN THE NECESSITY FOR TEACHING FOREIGN LANGUAGE TO YOUNG CHILDREN. SEEING FOREIGN LANGUAGE TRAINING AS A NECESSARY STEP TOWARD WORLD PEACE, PFEFFER (1964) SAYS THAT "IT TAKES ONE LANGUAGE TO BUILD A WALL, BUT IT TAKES TWO TO MAKE A GATE. SPARKMAN (1957) FEELS THAT LANGUAGE AS A TOOL HAS PLAYED A TREMENDOUS PART IN SOCIAL PROGRESS. HE STATED THAT IT IS THROUGH WORDS AND IDEAS, WHEN DIRECT EXPERIENCE IS IMPOSSIBLE, THAT ONE COMES TO IDENTIFY WITH OTHERS AND THEIR PROBLEMS. HE ADDED THAT THE MORE LANGUAGES ONE LEARNS, THE BROADER AND RICHER WILL BE HIS SOCIAL LIFE AND HIS INNER LIFE.

EATON (1957) STATED THAT SCHOOLS HAVE BEEN UNDER TREMENDOUS OBLIGATION TO PREPARE STUDENTS FOR A WORLD WHICH HAS SHRUNK RAPIDLY AND HAS GIVEN US MORE AND MORE CONTACT WITH FOREIGN PEOPLE. HE CLAIMS THAT "OTHER COUNTRIES ARE LOOKING TO US FOR MUCH MORE THAN ECONOMIC AID; THEY WANT UNDERSTANDING, RECOGNITION OF THEIR CULTURES, EVIDENCE THAT WE ARE NOT THE SELF-CENTERED IMPERIALISTS WHICH RIVAL NATIONS CALL US". EATON FEELS THAT FLES PROGRAMS ARE AN IMPORTANT STEP TOWARD PREPARING CHILDREN FOR FUTURE CITIZENSHIP.

Holmes (1962) says that "being opposed to the teaching of a foreign language in elementary school today is just about like being opposed to peace". He claims that the FLES programs can 1- improve human relations within the community. Children will learn that the "foreigner" has the same basic needs as they do. They will learn respect for what is strange and foreign to them. 2- improve international relations - their study of foreign language transforms introverted isolationism and over confident provincialism into intelligent, personal interest in world problems.

IN AN ARTICLE BY SELVI (1953), HE QUOTED JOHN FOSTER DULLERS WHO SAID THAT "IT IS IMPORTANT THAT AMERICANS SHOULD GET MORE FAMILIAR WITH MODERN FOREIGN LANGUAGES. THE UNITED STATES TODAY CARRIES NEW RESPONSIBILITIES IN MANY QUARTERS OF THE GLOBE, AND WE ARE AT A SERIOUS DIGADVANTAGE BECAUSE OF THE DIFFICULTY OF FINDING PERSONS WHO CAN DEAL WITH THE FOREIGN LANGUAGE PROGRAM. INTERPRETERS ARE NO SUBSTITUTE.

IN AGREEMENT WITH THIS, GIRARD (1955) FEELS THAT THE FOSTERING OF TOLERANCE FOR THE FOREIGN OR UNFAMILIAR ARE GREAT CONTRIBUTIONS TO THE TOTAL GROWTH OF A CHILD AND THAT THIS GROWTH, IN TURN, CAN LEAD TO MORE SATISFACTORY INTERNATIONAL RELATIONS.

FURTHER SUPPORT TO FLES IS GIVEN BY GUERRA (1957) WHO FEELS THAT THE SPIRIT OF FLES GRAVITATES UPON THE PRINCIPLE OF IMPROVING SOCIAL AND CULTURAL RELATIONS. HE SAYS THAT IF THE SPOKEN LANGUAGE IS ACCOMPANIED BY VARIOUS CULTURAL STUDIES OF THE FOREIGN COUNTRY, THERE CAN BE NO BETTER LESSON IN THE WAYS OF TOLERANCE AND UNDERSTANDING OF THE EMOTIONAL FIBRE AND SOCIAL PERSONALITY OF A FOREIGN PEOPLE.

WOLF AND WOLF (1962) FEEL SO STRONGLY THAT THE EARLY STUDY OF FOREIGN

LANGUAGES CAN CONTRIBUTE LARGELY TO INTERNATIONAL COMMUNICATION, THAT THEY FEEL THAT AN EXTENSION OF STUDY TO MORE LANGUAGES IS NECESSARY. THEY STATE THAT JAPANESE, CHINESE, RUSSIAN AND ARABIC LANGUAGES SHOULD BE TAUGHT AS WELL AS THE MORE POPULARLY TAUGHT ONES. THERE ARE NUMEROUS OTHER OPINIONS WHICH CLEARLY SUPPORT FLES PROGRAM THROUGHOUT THE COUNTRY (EDITORIAL, GREEN BAY GAZETTE, 1959; KELIHER, 1959; HANSEN, 1954; BIRKMAIER, 1958).

Mulhauser (1959) RECOMMENDS SPECIFIC ACTIONS TO BE TAKEN WHICH HE FEELS ARE NECESSARY IN FORMING FOREIGN LANGUAGE PROGRAMS. HE FEELS:

1- THAT FLES TEACHERS SHOULD URGE THE OFFICE OF EDUCATION TO CALL A WORKING CONFERENCE OF EXPERIENCED LEADERS IN FLES TO PLAN PROGRAMS, SUGGEST USES OF TOOLS, AND TO PUBLISH FINDINGS. 2- THAT THERE SHOULD BE AN ORGANIZED DEVELOPMENT OF THE JUNIOR HIGH SCHOOL PROGRAM TO FOLLOW UP FLES TRAINING.

3- THAT THERE SHOULD BE A NATIONAL FLES TEACHERS PLACEMENT BUREAU. 4- THAT THERE SHOULD BE A STATE SUPERVISOR FOR FOREIGN LANGUAGE.

IN DETERMINING WHETHER OR NOT TO TEACH FOREIGN LANGUAGES, DIGGS (1963) FEELS THAT SOME KEY QUESTIONS MUST BE ASKED:

- 1- To WHAT END IS IT DIRECTED, CULTURAL, UTILITARIAN, OR PERSONAL SKILL?
- 2- What is the goal upon which foreign Languages should be based? Should the method of teaching be based upon the goal of competency in speaking, understanding, reading or writing?
- 3- Who should teach it, classroom teacher or specialist?
- 4- WHAT LANGUAGES SHOULD BE TAUGHT? THIS DEPENDS UPON GEOGRAPICAL LOCATIONS, BACKGROUNDS OF COMMUNITY, INTEREST OF PARENTS.
- 5- What is the effect of foreign language program (on the total program) in the elementary school? Time for foreign language must be taken from somewhere else.
- 6- How much sequential pattern should there be to foreign Language instruction in the system?
- 7- Who should take the program? Should it be given to all students or should they be carefully selected.

IN ESTABLISHING FLES PROGRAMS THROUGHOUT THE COUNTRY, THESE QUESTIONS HAVE BEEN CONSIDERED AND VARIOUS DECISIONS HAVE BEEN MADE. ONE OF THE LEADING PROBLEMS POINTED OUT BY AN EDITORIAL IN THE SCHOOL REVIEW (1955) AND BY KOLBERT AND MASTRONIE (1962) IS THE FACT THAT HIGH SCHOOL MUST BE PREPARED TO MEET THE ADVANCED QUALIFICATIONS OF THE STUDENTS WHO HAVE BEEN IN FLES PROGRAMS. CARTON (1961) AGREES WITH THIS STATEMENT, AND FEELS THAT IT HAS NOT BEEN ESTABLISHED THROUGH RESEARCH THAT THE AUDIO-LINGUAL APPROACH TAUGHT IN ELEMENTARY SCHOOL WILL ENHANCE STUDENTS! LATER ACQUISITION OF READING SKILLS AND GRAMMATICALLY CORRECT WRITING.

CHALLENGING THIS STATEMENT IS AN ARTICLE BY VACOLS (1961) IN WHICH HE DESCRIBES HIS OBSERVATIONS OF STUDENTS OF FLES PROGRAMS IN JR. HIGH

SCHOOL. HE SAID THAT "IT IS AN EXHILARATING EXPERIENCE FOR ME TO BEHOLD THIS 9TH GRADE GROUP. THEY POSSESS A PRECISENESS OF PRONUNCIATION AND SCOPE OF VOCAEULARY THAT WOULD NEVER BE ATTAINED IN A TYPICAL SECONDARY FOREIGN LANGUAGE PROGRAM. GRAMMATICAL POINTS ARE EASILY EXPLAINED AND UNDERSTOOD". HE ADDED THAT THE GROUP OF 9TH GRADERS WERE COMPARABLE TO A SECOND YEAR HIGH SCHOOL CLASS. THEY WERE ALSO FAR MORE ADVANCED IN AURAL COMPREHENSION AND ORAL ABILITY.

THERE HAS BEEN A DIVERSITY OF OPINION AS TO THE CHOICE OF A SUITABLE TEACHER FOR FLES PROGRAMS. SWIATEK (1958) ENDORSES THE USE OF SPECIALISTS WHO ARE HIRED TO TEACH FOREIGN LANGUAGE ALONE. THIS PRACTICE IS UTILIZED IN MANY SCHOOL DISTRICTS AND HAS RECEIVED WIDE SUPPORT (JONES, 1955). However, Differing from this opinion is one raised by Kolbert (1958) who feels that foreign language should be part of the usual class life of a self-contained atmosphere. He adds that if it is to be a living experience running through the usual activities of the day, it must be handled by a well-trained classroom teacher. He feels that it matters little if children do not learn perfect accents from foreign born teachers; the important thing is for children to pick up a tool for communication.

SISTER RUTH ADELAIDE (1958) SUGGESTS A METHOD WHEREBY COLLEGES COULD SEND OUT, FOR A WHOLE SEMESTER AT A TIME, THOSE FOREIGN LANGUAGE STUDENTS WHO HAVE ACHIEVED EXCELLENCE IN THEIR WORK TO TEACH FOREIGN LANGUAGE IN NEARBY PUBLIC SCHOOLS. SHE CITTED EXAMPLES WHERE SUCH A PROGRAM HAS BEEN CARRIED OUT WITH SUCCESS.

THE PROPONENTS OF FLES PROGRAMS BELIEVE THAT FOREIGN LANGUAGE TRAINING SHOULD BEGIN AT AN EARLY AGE FOR MANY REASONS. HAYDON (1956) SAID THAT "IN ORDER TO REALLY LEARN ANOTHER LANGUAGE, ONE MUST BECOME A CHILD AGAIN. THIS DOES NOT MEAN THAT HE SHOULD THINK AS A CHILD BUT IT DOES MEAN THAT HE MUST LEARN THE NEW LANGUAGE AS HE LEARNED HIS MOTHER TONGUE: HE MUST HEAR THE NEW LANGUAGE NOT ONLY FOR PRONUNCIATION, BUT FOR WHAT IS EVEN MORE IMPORTANT, THE RHYTHM OR INTONATION OF THE NEW TONGUE". HE ADDED THAT THE BASIC FEELING FOR LANGUAGE CAN BE OBTAINED ONLY WHEN SPEECH PATTERNS ARE FLEXIBLE AS A CHILD.

BAGG (1953) FEELS THAT TEACHING FOREIGN LANGUAGE AT THE HIGH SCHOOL LEVEL IS NOT SUCCESSFUL. HE SAID THAT "WITH THE APPROACH OF ADOLESCENCE AND ITS INHIBITIONS, LANGUAGE HABITS ARE FIXED, SET, AND IT IS ONLY THE UNUSUAL STUDENT WHO, OVER A PERIOD OF TWO OR THREE YEARS, IS ABLE TO ... DEVELOP A FLUENCY AND EASE OF EXPRESSION IN A FOREIGN LANGUAGE WHICH COULD BE CONSIDERED TO BE SATISFACTORY".

THIS OPINION IS SUPPORTED BY VILLEGAS (1958) WHO SAYS THAT MOST SCHOOLS DO NOT OFFER FOREIGN LANGUAGE UNTIL HIGH ECHOOL. SHE ADDS THAT IT HAS BEER PROVEN THAT AT THIS AGE, A CHILD'S SPEECH MECHANISM IS SET, AND IT IS DIFFICULT FOR ANY PUPIL TO ACQUIRE THE CORRECT INTONATION AND ACCENT WHICH ARE EXTREMELY IMPORTANT IN SPEAKING AND READING A MODERN FOREIGN LANGUAGE.

ANDERSSON (1957, 1961) STATED THAT A TWELVE YEAR COURSE IN FOREIGN LANGUAGE FROM K - 12TH GRADE IS THE MOST EFFECTIVE AND PRODUCTIVE KIND OF PROGRAM. HE FEELS THAT CHILDREN UNDER TEN ARE BEST ABLE TO HEAR AND REPRODUCE LINGUISTIC SIGNALS AND THAT BECAUSE OF THIS, YOUNG CHILDREN WILL

DEVELOP AN AUTOMATIC USE OF A FOREIGN LANGUAGE AND NOT JUST ACQUIRE A ROTE MEMORY OT IT.

IT HAS BEEN POINTED OUT (BRUNO, 1962; DILLER 1961) THAT IF FLES PROGRAMS ARE TO BE EFFECTIVE, THE STUDY OF PSYCHOLINGUISTICS CAN REVEAL SUCH PERTINENT INFORMATION AS HOW LANGUAGE IS LEARNED AND HOW SPEECH ATTITUDE PATTERNS ARE FORMED. THEY FEEL THAT THE KNOWLEDGE ACQUIRED THROUGH SCIENCE IN THE AREAS OF LEARNING THEORY AND SPEECH MECHANISMS ARE INVALUABLE IN PLANNING SUCCESSFUL LANGUAGE PROGRAMS.

IN LINE WITH THIS, THEORETICAL SUPPORT FOR FLES PROGRAMS HAS GROWN FROM NEUROLOGICAL AS WELL AS PSYCHOLOGICAL BASES. PENFIELD (1951) SUGGESTED THAT LANGUAGE ACQUISITION PRIOR TO THE AGE OF FOURTEEN IS CONSISTENT WITH THE PHYSIOLOGICAL DEVELOPMENT OF THE BRAIN. VON BEKESY (1957) IDENTIFIED A COMPLICATED FEEDBACK SYSTEM IN THE EAR WHICH ADJUSTS THE PITCH OF THE VOICE AS THE CHILD LEARNS TO SPEAK. THIS MECHANISM HELPS EXPLAIN WHY ADOLESCENTS AND ADULTS FIND IT DIFFICULT TO SPEAK FOREIGN LANGUAGE WITH PROPER ACCENTS.

School districts throughout the country have differed on policy concerning the age at which foreign language should begin to be most effective. The California legislature passed a law (Goudrie, 1963) which makes the teaching of foreign language mandatory beginning in 6th grade as of July 1965. Cioffari (1956) suggests starting in third or fourth grade because by that time he feels that it will not hamper the Child's knowledge of English. In the University of Chicago elementary schools, French was introduced to third grade children in 1955 (Dunkel and Pillet, 1957, 1962). The authors describe a successful program in which all third graders were given foreign language training. It was felt that if Offered earlier than third grade, there would be certain disadvantages: 1- Early introduction might take the edge off the Child's interest and enthusiasm. 2- the child might experience confusion in his linguistic system if he learns a foreign language before Learning his 'native language.

According to Kolbert and Mastronie (1962), a panel at the University of Pittsburgh made definite recommendations in favor of FLES beginning as Early as kindergarten. They claim that at a very young age, there is effortless language learning due to many conditions existing in the Early Development of the Child. These include sensitive learning powers of mimicry, innate curiosity and comparative freedom from inhibitions. Early training in foreign language has been given support throughout the nation (Chavez, 1956; Sister May Austina, 1960; Andersson, 1962, Levenson, 1962; Sister Rosemary, 1962; Ziegler, 1963; McRae, 1955; McCormack, 1955a, 1955b; Hall, 1959).

Another aspect of FLES which has aroused differences of opinion is the selection of children to take part in the program. Some educators feel that all children should be in the program, disagreeing with those who feel that the children should be selected on basis of intellectual giftedness. Dunkel and Pillet (1962) feel that not only gifted students can profit from it. They say that "some of the virtues of a great many of our gifted pupils can actually be a source of difficulty in a subject like language learning. These highly intelligent, highly verbal, creative

STUDENTS OFTEN FIND THE STEP BY STEP PROCESS INVOLVED IN LANGUAGE MASTERY EITHER UNFAMILIAR OR UNCONGENIAL. THE SUCCESS OF THE THIRD GRADE FOREIGN LANGUAGE PROGRAM WHICH WAS GIVEN IN THEIR SCHOOL OFFERS SUPPORT TO THE IDEA OF GIVING FOREIGN LANGUAGE TO ALL.

GEISSINGER (1956) REPORTS A SUCCESSFUL FOREIGN LANGUAGE PROGRAM IN SOMERVILLE, NEW JERSEY IN WHICH ALL CHILDREN WERE INCLUDED, STARTING IN THIRD GRADE. AFTER THE FIRST FEW YEARS, IT WAS CONCLUDED THAT PUPILS OF A LOW 1.Q. LEARNED A FOREIGN LANGUAGE AS WELL AS HIGH 1.Q. STUDENTS, AND SOMETIMES EVEN BETTER. IT WAS FELT THAT THE ORAL-LINGUAL APPROACH ELIMINATED THE HANDICAP OF POOR READING AND COMPREHENSION.

THIS OPINION IS SUPPORTED BY LAWREW (1960). AT HER SCHOOL, SPANISH HAS BEEN OFFERED SUCCESSFULLY TO ALL CHILDREN DURING THE FIRST FOUR GRADES. AFTER THAT, WHEN LANGUAGE LEARNING BECAME INVOLVED WITH READING AND WRITING SOME OF THE POORER STUDENTS WERE DROPPED, BUT SHE CLAIMS THAT THEY WERE POOR STUDENTS IN ALL SUPJECTS; FOREIGN LANGUAGE WAS NOT GIVING THEM PARTIC-ULAR DIFFICULTY.

AT A MEETING OF UNESCO INSTITUTE OF EDUCATION IN 1962 (UNESCO, 1962), DISCUSSION OF FLES PROGRAM CONCLUDED THAT "TEACHING YOUNG CHILDREN A SECOND LANGUAGE WAS PRACTICAL AND EDUCATIONALLY VALUABLE FOR ALL CHILDREN, AND NOT ONLY FOR THE SPECIALLY GIFTED, PROVIDED FULL USE WAS MADE OF THE RECENT ADVANCES IN THE METHODOLOGY OF MODERN LANGUAGE TEACHING".

A DIFFERENT VIEWPOINT IS UPHELD BY MANY OTHERS. A SURVEY POLL CONDUCTED AMONG 16,000 SCHOOL ADMINISTRATORS IN THE UNITED STATES (NATION SCHOOLS, 1961) BROUGHT A PRESENCE. MOST OF THE SUPERINTENDENTS EXPRESSED THEIR PREFERENCE THAT FOREIGN LANGUAGE SHOULD BE OFFERED TO THE TALENTED STUDENTS, CHILDREN WITH AN 1.Q. OF 120 AND UP. RATTE (1957) DESCRIBED A PROGRAM IN LEXINGTON, MASSACHUSETTS IN WHICH FOREIGN LANGUAGES WAS RESTRICTED TO AN ACADEMICALLY SUPERIOR GROUP. IT WAS FELT THAT THE PROGRAM SHOULD BE LIMITED IN SCOPE BECAUSE THERE WERE NOT ENOUGH SUFFICIENTLY TRAINED TEACHERS FOR ALL. IN NEW YORK CITY, FLES PROGRAMS WERE ORGANIZED FOR INTELLECTICALLY GIFTED STUDENTS ONLY (HEUBENER, 1960).

ANOTHER POINT IS RAISED BY TIREMAN AND ZINTZ (1961). THEY STATE THAT IT IS NOT KNOWN WHAT PART INTELLIGENCE PLAYS IN THE LEARNING OF A FOREIGN LANGUAGE; THEY FEEL THAT OTHER QUALITIES SUCH AS PERCEPTION OF SOUND DIFFERENCE AND MOTIVATION ARE EQUALLY IMPORTANT.

AS EARLY AS 1954, IT WAS NOTED (ANDERSON, 1954) THAT DEFINITE SOCIAL GAINS WERE MADE AS A RESULT OF THE FLES PROGRAM. SOME OF THESE WERE AS FOLLOWS:

- 1- AN INCREASE IN READING ABOUT OTHER LANDS.
- 2- IMPROVEMENT IN SPEECH DEFECTS IN YOUNG CHILDREN.
- 3- ENRICHMENT FOR ALL THE FOREIGN LANGUAGE STUDENTS.
- 4- INCREASED CONFIDENCE IN SLOW-LEARNING CHILDREN BROUGHT ABOUT BY POSITIVE ACHIEVEMENT IN THE FOREIGN LANGUAGE STUDY.
- 5- IMPROVED ADJUSTMENT IN FOREIGN CHILDREN, APPARENTLY SINCE HE IS NO LONGER ASHAMED OF KNOWING A FOREIGN LANGUAGE.
- 6- Appreciation of the Heritage of Foreign Children.

IN SPITE OF THESE APPARENT GAINS, ONE OF THE LEADING CONCERNS AMONG EDUCATORS CONCERNING FLES PROGRAMS IS THAT VALUABLE TIME IS BEING TAKEN AWAY FROM THE STUDY OF OTHER SUBJECTS, AND THAT ACHIEVEMENT IN OTHER AREAS WOULD SUFFER. A SUGGESTION, WHICH MIGHT BE CONSIDERED EXTREME IS OFFERED BY BOEHM (1959) WHO CLAIMS THAT SCIENCE AND MATH COULD EASILY BE POSTPONED UNTIL THE UPPER GRADES, WHEREAS FOREIGN LANGUAGE LEARNING IS EASY AND RAPID IN YOUNG CHILDREN. SHE QUOTES PLAGET WHO SAYS THAT ABSTRACT THINKING IS NOT SUFFICIENTLY DEVELOPED UNTIL AGE 12, AND THAT WHAT IS LEARNED OF AN ABSTRACT NATURE BEFORE THEN IS MECHANICAL AND NOT MEANINGFUL. SINCE IT IS HIGHLY UNLIKELY THAT SUCH A RADICAL CHANGE WOULD BE WELCOMED IN THE SCHOOLS, IT SEEMS NECESSARY TO LOOK FOR EVIDENCE SUPPORTING THE VIEW THAT IF FOREIGN LANGUAGE IS OFFERED TO YOUNG CHILDREN, THEIR OVERALL ACADEMIC ACHIEVEMENT WOULD NOT SUFFER.

Some such evidence can be found. Ralph C. Giegle, Superintendent of Schools, Reading Pa. Reports results (Elementary School Journal, May 1957) of a study concerning the achievement of basic learning before and after the inclusion of a FLES program. During 1954-55, French was taught for twenty minutes fer day in four third grade classes. Some of these students continued French in fourth grade. A comparison was made between the scores of the fourth graders who had had no expression landage; it was found that foreign language training had not harmed the basic learning programs.

IN THE SPRING OF 1959, THE FOREIGN LANGUAGE INSTRUCTION PROJECT OF THE UNIVERSITY OF ILLINOIS CONDUCTED A PILOT STUDY WHICH SOUGHT TO DETERMINE THE EFFECT OF FOREIGN LANGUAGE STUDY ON ELEMENTARY SCHOOL ACHIEVEMENT IN ARITHMETIC, ENGLISH AND READING. Experimental and Control Groups of Ninety Pupils Each from the Fourth Grade were used for this study. The results INDICATED THAT THE Experimental Group Showed Greater achievement in Reading Vocabulary and Reading Comprehension. In Language Skills, Arithmetic and Work Study Skills, There were no significant differences.

Discussion of FLES programs (UNESCO Institute for Education, 1962) revealed that the committees involved which were reporting on foreign language study believed that a second language was not detrimental to the development of the first language, nor to achievement in other academic areas, as well as general intellectual growth.

THE PURPOSE OF THE PRESENT STUDY IS TO CONTRIBUTE EVIDENCE CONCERNING THE EFFECTS OF TEACHING FOREIGN LANGUAGE UPON THE SCHOOL ACHIEVEMENT OF CHILDREN WHO HAD BEEN IN A FLES PROGRAM FROM FIRST GRADE ON. THE FOREIGN LANGUAGE PROGRAM IN THE HICKSVILLE PUBLIC SCHOOLS HAS BEEN IN EXISTENCE SINCE 1953, AND IT WAS UPON THIS PROGRAM THAT THE PRESENT STUDY WAS INSTITUTED USING THE STUDENTS IN HICKSVILLE AS A SOURCE FOR DATA.

#### **HYPOTHESES**

THE PROGRAM PIVOTAL TO THIS STUDY IS WHETHER THE TEACHING OF FOREIGN LANGUAGE WILL INTERFERE WITH PERFORMANCE IN OTHER SUBJECT AREAS.

THAT IS, BY INTRODUCING THE STUDY OF FOREIGN LANGUAGE TO THE ELEMENTARY SCHOOL CURRICULUM DO WE RUN THE RISK OF BURDENING THE CHILD WITH A SUBJECT HE CANNOT MASTER. FURTHER, WILL THE INCLUSION OF THE STUDY OF FOREIGN LANGUAGE DETRACT FROM THE PERFORMANCE OF THE STUDENTS IN THE TYPICAL SUBJECT AREAS OF READING, LANGUAGE ARTS, ARITHMETIC, CITIZENSHIP EDUCATION AND SCIENCE.

IN REDUCING THIS CENTRAL CONSIDERATION INTO MORE SPECIFIC TERMS, THE FOLLOWING HYPOTHESESWERE FORMULATED:

- A- THE EXPERIMENTAL (E) GROUP WILL EXHIBIT MORE SKILL IN THE READING AREA THAN THE CONTROL (C) GROUP.
- B. THE (E) GROUP WILL EXHIBIT MORE SKILLS IN ACADEMIC AREAS (AS MEASURED BY ACHIEVEMENT GRADE) THAN THE (C) GROUP.
- C. THE (E) GROUP WILL EXHIBIT MORE SKILL IN CITIZENSHIP EDUCATION THAN THE (C) GROUP.
- D- THE (E) GROUP WILL NOT EXHIBIT ANY MORE SKILL IN SCIENCE THAN THE (C) GROUP.

#### METHOD

IN ORDER TO HAVE BEEN ADMITTED INTO THE LANGUAGE PROGRAM, THE FOLLOWING REQUIREMENTS WERE NECESSARY; TOTAL I.Q. SCORE 120 OR ABOVE\*, READING
AT GRADE LEVEL OR ABOVE, TEACHER RECOMMENDATION, AND SATISFACTORY PERFORMANCE ON THE EARLE-FERNANDEZ APTITUDE TEST\*. (EXCEPTIONS WERE MADE IN CASES
WHERE A STUDENTS\* I.Q. SCORE WAS BELOW 120, IF THE TEACHER STRONGLY RECOMMENDED LANGUAGE STUDY BASED UPON OTHER CRITERIA.)

THESE STUDENTS WERE EXPOSED TO ONE OF FOUR FOREIGN LANGUAGES FOR A PERIOD OF TWENTY MINUTES EACH DAY. THE LANGUAGES OFFERED WERE SPANISH, FRENCH, ITALIAN AND GERMAN. THE DECISION AS TO WHICH LANGUAGE THE STUDENT STUDIED WAS PRIMARILY BASED UPON TEACHER AVAILABILITY ALONG WITH PARENTAL REQUEST. THIS MAY EXPLAIN THE SMALL NUMBER OF STUDENTS IN THE GERMAN GROUP.

ALL THE STUDENTS IN THE DISTRICT, MEETING THE ABOVE REQUIREMENTS, WERE GIVEN FOREIGN LANGUAGE. FOR THE PURPOSES OF THE PRESENT STUDY, FOREIGN LANGUAGE STUDENTS WHO STARTED IN THE FIRST GRADE MADE UP THE EXPERIMENTAL GROUP. THE CONTROL GROUP CONSISTED OF THOSE STUDENTS WHO MET THE CRITERIA FOR FOREIGN LANGUAGE, BUT WHO ENTERED SCHOOL AFTER THE FIRST GRADE.

THE DROPPED GROUP DATA WERE COLLECTED FROM THE RECORDS OF STUDENTS WHO HAD BEEN IN THE EXPERIMENTAL GROUP, BUT DROPPED OUT FOR A VARIATY OF REASONS. THESE STUDENTS WERE DISCUSSED IN A SEPARATE REPORT WRITTEN AT AN EARLIER DATE AND WILL NOT BE DISCUSSED HERE.

DATA WERE COLLECTED EACH YEAR, FOR THREE YEARS, ON THE 1.Q. SCORES, ACHIEVEMENT SCORES, AND TEACHER GRADES OF ALL OF THE STUDENTS IN THE EXPERIMENTAL AND CONTROL GROUPS. IT WAS DECIDED THAT ANALYSIS OF VARIANCE WOULD BE COMPUTED TO DETERMINE WHETHER OR NOT THERE WERE SIGNIFICANT DIFFERENCES BETWEEN THE SCORES IN THESE GROUPS. AS IN THE PAST, THE MALE AND FEMALE DATA WERE EVALUATED SEPARATELY.

IN CONSIDERING 1.Q. SCORES, THE WIDE RANGE OF SCORES WAS DIVIDED INTO HIGH, MEDIUM AND LOW GROUPS IN ORDER TO ASSESS POSSIBLE DIFFERENCES BETWEEN THESE GROUPS. I. Q. INTERVALS WERE CHOSEN BY DIVIDING THE FULL RANGE OF SCORES INTO THIRDS IN ORDER TO MAKE THE GROUPS EQUIVALENT IN SIZE. THE HIGH GROUP CONSISTED OF THOSE CHILDREN WHOSE 1.Q. FELL INTO THE RANGE OF 126 TO 168; THE MEDIUM GROUP 116 TO 125; THE LOW GROUP 92 TO 115.

THE HANDLING OF THE ACHIEVEMENT SCORES, THE SUBTESTS OF THE CALIFORNIA ACHIEVEMENT TEST WERE USED AS FOLLOWS: READING VOCABULARY, READING COMPRE-HENSION, ARITHMETIC REASONING, ARITHMETIC FUNDAMENTAL, MECHANICS OF ENGLISH AND SPELLING.

THE TEACHER GRADES WHICH WERE CONSIDERED WERE FOR THE FOLLOWING SUB-JECTS: READING, LANGUAGE ARTS, ARITHMETIC, CITIZENSHIP EDUCATION AND SCIENCE.

THE FINAL COUNT, WHEN ALL OF THE SUBJECTS COLLECTED OVER THE THREE

\* A LOCALLY DEVELOPED LANGUAGE APTITUDE TEST.

YEARS WERE TOTALED, THE EXPERIMENTAL GROUP 1,914\* SS AND THE CONTROL GROUP HAD 456\* SS. BECAUSE THE EXPERIMENTAL WAS MUCH LARGER THAN THE CONTROL GROUP, THE EXPERIMENTAL GROUP WAS SUBDIVIDED, BY LANGUAGE INTO ITALIAN, GERMAN, SPANISH AND FRENCH. BECAUSE THE NUMBER OF CHILDREN TAKING GERMAN WAS MINIMAL, THE GERMAN GROUP WAS DROPPED FROM CONSIDERATION, AND IN THE FINAL DATA ANALYSIS, ONLY THREE LANGUAGE GROUPS WERE CONSIDERED.

Due to several factors beyond the control of the researchers, either in design or in data collecting, the number of subjects in the cells, for the purpose of analysis of variance were not equal to each other in all cases.

THE TEACHERS RECORDS WERE NOT ALWAYS COMPLETED, AND ACHIEVEMENT TESTS AND I.Q. TESTS WERE NOT GIVEN EACH YEAR IN EVERY CASE. IN ORDER TO CORRECT FOR THIS IN COMPUTING THE STATISTICAL WORK, RANDOM SELECTION OF SUBJECTS, BY GRADE, WAS PERFORMED, USING THE SMALLEST NUMBER IN EACH CASE, AS CRITTERION.

IN ORDER TO EQUALIZE CELLS IN THE ANALYSIS OF VARIANCE CALCULATIONS, THE SMALLEST CELL NUMBER WAS USED AS A BASE FIGURE. ALL OTHER CELLS IN THE MATRIX WERE DECREASED IN SIZE TO THE BASE CELL NUMBER. THIS WAS DONE BY RANDOMLY EXCLUDING STUDENTS UNTIL ALL CELLS WERE EQUAL IN SIZE.

TABLE A-11-1 THROUGH A-11-8 IN APPENDIX A INDICATED THE NUMBER OF STUDENTS AVAILABLE IN EACH CELL CATEGORY BEFORE EQUALIZATION WAS CARRIED OUT.

### DUMMY TABLE FOR \*\* ANALYSIS OF VARIANCE

	LANGUAGES (# OF LANGUAGES DEPENDENT ON AVAILABILITY OF STUDENTS)			
1.Q.	FRENCH	ITALIAN	SPANISH	CONTROL
UPPER				
MIDDLE				
LOWER				

- \* THESE INCLUDE THE SAME STUDENT MORE THAN ONCE IF MEASURES WERE OBTAINABLE ON HIM FOR MORE THAN ONE GRADE.
- \*\* GERMAN WAS LEFT OUT BECAUSE OF THE EXTREMELY LOW NUMBER OF STUDENTS STUDYING THIS SUBJECT.

#### SUMMARY AND CONCLUSION

IN ORDER TO EVALUATE THE RESULTS OF FOREIGN LANGUAGE TRAINING (BY MEANS OF AURAL LINGUAL APPROACH) IN THE HICKSVILLE PUBLIC SCHOOLS DATA WAS GATHERED FROM ALL STUDENTS STUDYING FOREICN LANGUAGE\* IN THE ELEMENTARY GRADES. THE DATA COVERED WAS TEACHER GRADES IN THE AREAS OF READING, LANGUAGE ARTS, ARITHMETIC, CITIZENSHIP EDUCATION AND SCIENCE; AND ACHIEVEMENT SCORES (CALIFORNIA ACHIEVEMENT TESTS) IN THE AREAS OF READING VOCABULARY, READING COMPREHENSION, ARITHMETIC REASONING, ARITHMETIC FUNDAMENTAL, MECHANICS OF ENGLISH AND SPELLING.

ANALYSIS OF VARIANCE WAS USED IN THE EVALUATION OF SECOND AND THIRD GRADE DATA IN BOTH THE TEACHER GRADES AND ACHIEVEMENT AREAS. ALL ANALYSIS WAS DONE WITH A SEPARATE MALE - FEMALE BREAKDOWN.

THE STUDY HAD ORIGINALLY PRESENTED FOUR HYPOTHESIS FOR EVALUATION.

THE FIRST HYPOTHESIS STATES: "THE EXPERIMENTAL (E) GROUP WILL EXHIBIT MORE SKILL IN THE READING AREA THAN THE CONTROL (C) GROUP."

TABLE S-1

RESULTS OF ANALYSIS OF VARIANCE PERTAINING TO LANGUAGE EFFECT

### 2ND GRADE

(ACHIEVEMENT SCORES IN)	MALES	<u>FEMALES</u>
READING VOCABULARY	No DIFF.	No Diff.
READING COMPREHENSION	SIGN. AT .01	SIGN. AT .01
·	SIGN. AT .01	SIGN. AT .05

### 3RD GRADE

(ACHIEVEMENT SCORES IN)	MALES	<u>FEMALES</u>
READING VOCABULARY	SIGN. AT .01	No Diff.
READING CCMPREHENSION	SIGN. AT .01	Sign. At .01
READING (TEACHER GRADES)	SIGN. AT .01	SIGN. AT .01

EXAMINING TABLE S-1 WE FIND THAT THE AREA WHICH DOES NOT EXHIBIT AN EXPECTED SIGNIFICANT INCREASE IS THAT OF READING VOCABULARY (EXCEPT

<sup>\*</sup> DATA GATHERED ON STUDENTS IN GERMAN WAS NOT USED BECAUSE OF THE SMALL

FOR 3RD GRADE MALES). ALL THE DIFFERENCES EVALUATED ARE SIGNIFICANT AND, MORE POINTEDLY IN THE EXPECTED DIRECTION. THE HYPOTHESIS AS ORIGINALLY STATED WOULD SEEM TO BE SUPPORTED EXCEPT FOR THE READING VOCABULARY AREA. IT SHOULD BE POINTED OUT THAT THE MEANS OF THE EXPERIMENTAL GROUP DON'T SHOW ANY DETRIMENTAL EFFECT.

THE SECOND HYPOTHESIS STATES: "THE EXPERIMENTAL (E) GROUP WILL EXHIBIT MORE SKILL IN ACADEMIC AREAS (AS MEASURED BY ACHIEVEMENT GRADES) THAN THE CONTROL (C) GROUP.

#### TABLE S-2

RESULTS OF ANALYSIS OF VARIANCE PERTAINING TO LANGUAGE EFFECT
(WE HAVE ALREADY EXAMINED READING VOCABULARY AND READING COMPREHENSION)

#### 2ND GRADE

(ACHIEVEMENT SCORES IN)	MALES	FEMALES
ARITHMETIC REASONING	SIGN. AT .01	SIGN. AT .01
ARITHMETIC FUNDAMENTAL	SIGN. AT .01	No DIFF.
MECHANICS OF ENGLISH	SIGN. AT .01	No DIFF.
SPELLING	SIGN. AT .01	No Diff.

### 3RD GRADE

(ACHIEVEMENT SCORES IN)	MALES	FEMALES
ARITHMETIC REASONING	SIGN. AT .05	SIGN. AT .05
ARITHMETIC FUNDAMENTAL	No DIFF.	SIGN. AT .01
MECHANICS OF ENGLISH	SIGN. AT .01	SIGN. AT .05
SPELLING	SIGN. AT .01	No Diee

IN EXAMINING TABLE S-2 THE ONLY CLEAR CUT AREA OF SIGNIFICANT RESULTS IS THAT OF 2ND GRADE MALES AND THEIR ACHIEVEMENT SCORES. THE 2ND GRADE FEMALES DON'T EXHIBIT THESE DIFFERENCES EXCEPT IN THE ARITHMETIC REASONING AREA. THE HYPOTHESIS AS STATED IS NOT FULLY SUPPORTED BY THE RESULTS. THIS MAY WELL BE BECAUSE OF THE MIXED CHARACTER OF THE ACHIEVEMENT AREAS GROUPED UNDER THIS HYPOTHESIS. IN FUTURE STUDIES IT



WOULD APPEAR TO BE MORE MEANINGFUL TO CONSIDER MORE MEASUREMENT AND EVALUATION IN THE AREAS OF MECHANICS OF ENGLISH AND SPELLING.

THE THIRD HYPOTHESIS STATES: "THE EXPERIMENTAL (E) GROUP WILL EXHIBIT MORE SKILL IN CITIZENSHIP EDUCATION THAN THE CONTROL (C) GROUP".

### TABLE S-3 RESULTS OF ANALYSIS OF VARIANCE PERTAINING TO LANGUAGE EFFECT

#### 2ND GRADE

(TEACHER GRADES IN)	MALES	<b>FEMALES</b>
CITIZENSHIP EDUCATION	SIGN. AT .01	SIGN. AT .01

### 3RD GRADE

(TEACHER GRADES IN)	MALES	<b>FEMALES</b>
CITIZENSHIP EDUCATION	SIGN. AT .01	SIGN. AT .05

IN EXAMINING TABLE S-3 WE FIND THAT THE EXPERIMENTAL GROUP CONSISTENTLY EXHIBITS SIGNIFICANTLY HIGH DIFFERENCES IN PERFORMANCE IN THE AREA OF CITIZENSHIP EDUCATION. WE ACCEPT THE HYPOTHESIS THAT THE EXPERIMENTAL GROUP WILL EXHIBIT MORE SKILL IN CITIZENSHIP EDUCATION THAN THE CONTROL GROUP. IT WOULD APPEAR THAT SOME CARRY OVER EFFECT IS OPERATING IN THIS ACADEMIC AREA.



THE FOURTH HYPOTHESIS STATES: "THE EXPERIMENTAL (E) GROUP WILL NOT EXHIBIT ANY MORE SKILL IN SCIENCE THAN THE CONTROL (C) GROUP".

TABLE S-4

RESULTS OF ANALYSIS OF VARIANCE PERTAINING TO LANGUAGE EFFECT

2ND GRADE

MALES

**FEMALES** 

SCIENCE

SIGN. AT .01 SIGN. AT .01

3RD GRADE

MALES

**FEMALES** 

SCIENCE

SIGN. AT .01

SIGN. AT .05

ON EXAMINATION OF TABLE S-4 WE FIND THE SIGNIFICANT DIFFERENCES ARE CONSISTENLY IN FAVOR OF THE EXPERIMENTAL (LANGUAGE) GROUP. IN THIS CASE WE REJECT THE HYPOTHESIS. THE RESULTS ON THIS SITUATION ARE SUCH THAT WE MUST LOOK FOR FURTHER INFORMATION CONCERNING SO CALLED "HAWTHORNE EFFECTS" AND FOR SAMPLING PROBLEMS.

IN AN ATTEMPT TO EVALUATE WHAT MIGHT BE CONSIDERED ANOTHER PERTINENT AREA THE EFFECT OF INTELLIGENCE (AS MEASURED IN THE FIRST GRADE; I.E., TOTAL INTELLIGENCE IN THE CALIFORNIA MENTAL MATURITY TEST) WAS ALSO CONSIDERED.

IF WE SUMMATE THE RESULTS OF THE F TEST CONDUCTED IN TABULAR FORM WE FIND SOME INTERESTING RESULTS.

### TABLE S-5 INTELLIGENCE EFFECT ON ACHIEVEMENT SCORES

#### 2ND GRADE

	MALES	FEMALES
READING VOCABULARY	No Sign.	SIGN. AT .05
READING COMPREHENSION	No Sign.	SIGN. AT .01
ARITHMETIC REASONING	No Sign.	SIGN. AT .01
ARITHMETIC FUNDAMENTAL	No Sign.	SIGN. AT .01
MECHANICS OF ENGLISH	No Sign.	SIGN. AT .01
SPELLING	No Sign.	SIGN. AT .01

### 3RD GRADE

	MALES	FEMALES
READING VOCABULARY	No Sign.	SIGN. AT .01
READING COMPREHENSION	No Sign.	SIGN. AT .01
ARITHMETIC REASONING	SIGN. AT .01	SIGN. AT .01
ARITHMETIC FUNDAMENTAL	No Sign.	SIGN. AT .01
MECHANICS OF ENGLISH	No Sign.	SIGN. AT .01
SPELLING	No Sign.	SIGN. AT .01

IN TABLE S-5 IT CAN BE SEEN THAT 2ND GRADE INTELLIGENCE DID NOT SHOW A SIGNIFICANCE IN ANY AREA OF ACHIEVEMENT FOR MALES WHILE THE 3RD GRADE LEVEL INDICATED INTELLIGENCE EFFECT FOR MALES ONLY IN THE AREA OF ARITHMETIC REASONING.

IF WE EXAMINE THE FEMALE COLUMN WE FIND INTELLIGENCE SIGNIFICANT IN EVERY AREA OF ACHIEVEMENT BOTH IN THE SECOND AND THIRD GRADES.



IN TABLE S.6 (SEE BELOW) WE ONCE AGAIN FIND NO INTELLIGENCE EFFECT FOR MALES IN THE 2ND GRADE, BUT TWO AREAS SHOW AN EFFECT ON THE THIRD GRADE (READING AND SCIENCE). IN THE FEMALE COLUMN IT IS INTERESTING TO NOTE THAT THE AREAS OF CITIZENSHIP EDUCATION AND SCIENCE EXHIBIT NO INTELLIGENCE EFFECT FOR BOTH THE SECOND AND THIRD GRADES.

TABLE S-6
INTELLIGENCE EFFECT ON TEACHER GRADES

### 2ND GRADE

	MALES	FEMALES
READING	No Sign.	SIGN. AT .05
LANGUAGE ARTS	No Sign.	SIGN. AT .01
ARITHMETIC	No Sign.	SIGN. AT .01
CITIZENSHIP EDUCATION	No Sign.	No Sign.
SCIENCE	No Sign.	No Sign.

### 3RD GRADE

	MALES	FEMALES
READING	Sign. AT .01	SIGN. AT .05
LANGUAGE ARTS	No Sign.	No Sign.
ARITHMETIC	No Sign.	SIGN. AT .05
CITIZENSHIP EDUCATION	No Sign.	No Sign.
SCIENCE	SIGN. AT .05	No Sign.



IN THE FINAL ANALYSIS OF DATA; EXAMINATION OF THE MEAN PERFORMANCE OF ALL GROUPS AT BOTH GRADE LEVELS, FINDS TWO AREAS OF CONTROVERSY.

ONE AS A MEAN REVERSAL IN THE SENSE THAT THOSE FEMALES STUDYING ITALIAN IN THE SECOND GRADE PERFORMED AT A LOWER LEVEL THAN THE CONTROL GROUP IN SPELLING. THE SECOND WAS FEMALES STUDYING SPANISH IN THE THIRD GRADE, PERFORMED AT THE SAME MEAN LEVEL AS THAT OF THE CONTROL GROUP.

IN ALL OTHER CASES THE EXPERIMENTAL GROUP CONSISTENTLY SCORE MEAN PERFORMANCES (IN BOTH ACHIEVEMENT AND TEACHER GRADES) ABOVE THE MEAN PERFORMANCE OF THE CONTROL GROUP.

IF WE USE THE DATA PRESENTED IN THIS STUDY WE FIND THE STUDENTS STUDYING FOREIGN LANGUAGE IN THE SECOND AND THIRD GRADES\* SHOW A MEAN PERFORMANCE IN ACHIEVEMENT AND TEACHER GRADES ABOVE THAT OF A COMPARABLE GROUP OF STUDENTS NOT TAKING A FOREIGN LANGUAGE.

IF THESE RESULTS ARE MEANINGFUL WE CAN SET TO REST THE ARQUMENT CENTERING AROUND THE NEGATIVE EFFECT OF EARLY FOREIGN LANGUAGE TRAINING AND IN FACT\*\* FIND IN THIS STUDY, POSITIVE VALUES OCCURRING IN THE EDUCATIONAL PROCESS INVOLVED IN EARLY FOREIGN LANGUAGE TRAINING.

IT IS THE INTENTION THAT DATA GATHERED ON THESE STUDENTS WILL CONTINUE AS THEY PROGRESS THROUGH SCHOOL UNTIL SUCH TIME AS THEY GRADUATE. AS PART OF THE PROCESS THE CONTROL GROUP WILL ALSO BE ENLARGED AS NEW STUDENTS MOVE INTO THE DISTRICT.

<sup>\*</sup> WITH THE INITIAL STUDY STARTING IN THE FIRST GRADE.

<sup>\*\*</sup>WITH FULL REALIZATION OF A "HAWTHORNE EFFECTS" POSSIBLY OPERATING THIS, OR ANY OTHER CASE FOR THAT MATTER.

APPENDIX A



# TABLE II-A READING VOCABULARY - ACHIEVEMENT GRADE 2 - MALES

SOURCE	SUM OF SQUARES	DEGREES OF FREEDOM	VARIANCE	F
INTELLIGENCE	0.26	2	0,13	0.03 (N.S.)
LANGUAGE	20.21	2	10.10	2.54 (N.S.)
INTERACTION	4.65	4	1.16	0.29 (N.S.)
WITHIN	32.18	81	3.97	
TOTAL	57.30	89		
			1.	

TABLE 11-A INDICATES THAT FOR 2ND GRADE READING VOCABULARY ACHIEVEMENT FOR THE MALES, 1.Q. LEVEL WAS NOT A SIGNIFICANT FACTOR (.05).
BY INSPECTING THE 1.Q. MEANS IT WAS SEEN THAT THERE WAS NO SYSTEMATIC VARIATION. THE EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP SOURCE SHOWED NON-SIGNIFICANCE AT THE (.05) LEVEL. NO SIGNIFICANT INTERACTION (.05) WAS FOUND BETWEEN INTELLIGENCE AND THE EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP. AN INSPECTION OF THE MEANS IN TABLE 11-A-1 REVEALED THAT THE OVERALL MEAN SCORES OF THE EXPERIMENTAL GROUPS WERE HIGHER THAN THAT OF THE CONTROL GROUP. OF THE EXPERIMENTAL GROUP SPANISH HAD A SLIGHTLY HIGHER MEAN THAN THE FRENCH GROUP. A CRITICAL RATIO WAS RUN BETWEEN THE OVERALL MEAN OF THE LANGUAGE GROUPS AND THE CONTROL GROUP MEAN AND FOUND TO BE NON-SIGNIFICANT (.05).

TABLE II-A-1
MEAN SCORE BY GROUP

I.Q. INTERVAL	FRENCH	*ITALIAN	SPANISH	CONTROL
92 то 115	4.5		4.7	3.2
116 то 125	4.2		4.6	4.0
126 то 168	4.7	en 10	4.5	3.5
	4.5		4.6	3.6

<sup>\*</sup> ITALIAN DID NOT HAVE ENOUGH MALE STUDENTS IN EACH CELL.

ERIC

# TABLE II-B READING COMPREHENSION - ACHIEVEMENT GRADE 2 - MALES

SOURCE	SUM OF SQUARES	DEGREES OF FREEDOM	VARIANCE	F
INTELLIGENCE	0.65	2	0.33	0.66 (N.S.)
LANGUAGE	5.65	2	2.83	5.66 (.01)
INTERACTION	4.76	4	1.19	2.38 (N.S.)
WITHIN	40.30	81	0.50	
TOTAL	51.36	89		

TABLE 11-B INDICATES THAT FOR 2ND GRADE READING COMPREHENSION - ACHIEVEMENT FOR THE MALES, 1.Q. LEVEL WAS NOT A SIGNIFICANT FACTOR (.05). BY INSPECTING THE 1.Q. MEANS IT WAS SEEN THAT THERE WAS NO SYSTEMATIC VARIATION. THE EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP SOURCE SHOWED A SIGNIFICANCE AT THE (.01) LEVEL. NO SIGNIFICANT INTERACTION (.05) WAS FOUND BETWEEN INTELLIGENCE AND THE EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP. AN INSPECTION OF THE MEANS IN TABLE 11-B-1 REVEALED THAT THE OVERALL MEAN SCORES OF THE EXPERIMENTAL GROUPS WERE HIGHER THAN THAT OF THE CONTROL GROUP. OF THE EXPERIMENTAL GROUP SPANISH HAD THE HIGHEST MEAN AND FRENCH THE LOWEST MEAN SCORE. A CRITICAL RATIO WAS RUN BETWEEN THE OVERALL MEAN OF THE LANGUAGE GROUPS AND THE CONTROL GROUP MEAN AND FOUND TO BE NON-SIGNIFICANT (.05).

TABLE II-B-1
MEAN SCORE BY GROUP

I.Q. INTERVAL	FRENCH	*ITALIAN	SPANISH	CONTROL
92 то 115	3.9	444 849	4.6	3.3
116 то 125	3.9	No. 000	4.1	3.9
126 то 168	4.1	any testi	<b>3.</b> 8	<b>3.</b> 5
	4.0	~-	4.2	3.6

<sup>\*</sup> ITALIAN DID NOT HAVE ENOUGH MALE STUDENTS IN EACH CELL.



## TABLE II-C ARITHMETIC REASONING - ACHIEVEMENT GRADE 2 - MALES

SOURCE	SUM OF SQUARES	DEGREES OF FREEDOM	VARIANCE	F
INTELLIGENCE	0.85	2	0.43	1.05 (N.S.)
LANGUAGE	14.16	2	7.08	17.27 (.01)
INTERACTION	0.75	4	0.19	0.46 (N.S.)
WITHIN	33.40	81	0.41	
TOTAL	49.16	89		

TABLE 11-C INDICATES THAT FOR 2ND GRADE ARITHMETIC REASONING - ACHIEVEMENT FOR THE MALES, 1.Q. LEVEL WAS NOT A SIGNIFICANT FACTOR (.05). BY INSPECTING THE 1.Q. MEANS IT WAS SEEN THAT THE HIGHER 1.Q. CHILDREN HAD SLIGHTLY HIGHER ARITHMETIC REASONING SCORES. THE EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP SOURCE SHOWED A SIGNIFICANCE AT THE (.01) LEVEL. NO SIGNIFICANT INTERACTION (.05) WAS FOUND BETWEEN INTELLIGENCE AND THE EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP. AN INSPECTION OF THE MEANS IN TABLE 11-C-1 REVEALED THAT THE OVERALL MEAN SCORES OF THE EXPERIMENTAL GROUPS WERE HIGHER THAN 1 HAT OF THE CONTROL GROUP. OF THE EXPERIMENTAL GROUP FRENCH AND SPANISH HAD THE SAME MEAN SCORES. A CRITICAL RATIO WAS RUN BETWEEN THE OVERALL MEAN OF THE LANGUAGE GROUPS AND THE CONTROL GROUP MEAN AND FOUND TO BE NON-SIGNIFICANT (.05).

TABLE II-C-1
MEAN SCORE BY GROUP

1.Q INTERVAL	FRENCH	*ITALIAN	SPANISH	CONTROL
92 то 115	4.3		4.5	3.3
116 то 125	4.3		4.5	3.6
126 то 168	4.6	120 120	4.3	3.7
1, 2	4.4	40 000	4.4	3.5

<sup>\*</sup> TALIAN DID NOT HAVE ENOUGH MALE STUDENTS IN EACH CELL.



# TABLE | | - D ARITHMETIC FUNDAMENTAL - ACHIEVEMENT GRADE 2 - MALES

SOURCE	SUM OF SQUARES	DEGREES OF FREEDOM	VARIANCE	. F
INTELLIGENCE	1.83	2	0.91	1.90 (N.S.)
LANGUAGE	9.14	2	4.57	9.60 (.01)
INTERACTION	0.16	4	0.04	0.08 (N.S.)
WITHIN	38.56	81	0.48	
TOTAL	46.69	89		

TABLE 11-D INDICATES THAT FOR 2ND GRADE ARITHMETIC FUNDAMENTAL - ACHIEVEMENT FOR THE MALES, I.Q. LEVEL WAS NOT A SIGNIFICANT FACTOR (.05). BY INSPECTING THE 1.Q. MEANS IT WAS SEEN THAT THE HIGHER I.Q. CHILDREN HAD SLIGHTLY HIGHER ARITHMETIC FUNDAMENTAL SCORES. THE EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP SOURCE SHOWED A SIGNIFICANCE AT THE (.01) LEVEL. NO SIGNIFICANT INTERACTION (.05) WAS FOUND BETWEEN INTELLIGENCE AND THE EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP. AN INSPECTION OF THE MEANS IN TABLE 11-D-1 REVEALED THAT THE OVERALL MEAN SCORES OF THE EXPERIMENTAL GROUP WERE HIGHER THAN THAT OF THE CONTROL GROUP. OF THE EXPERIMENTAL GROUP FRENCH HAD THE HIGHEST MEAN AND SPANISH THE LOWEST MEAN SCORE. A CRITICAL RATIO WAS RUN BETWEEN THE OVERALL MEAN OF THE LANGUAGE GROUPS AND THE CONTROL GROUP MEAN AND FOUND TO BE NON-SIGNIFICANT (.05).

TABLE II-D-1
MEAN SCCRE BY GROUP

I.Q. INTERVAL	FRENCH	*ITALIAN	SPANISH	CONTROL
92 то 115	4.2		3.9	3.4
116 то 125	4.3	***	3.9	3.5
126 то 168	4.4		4.3	3.8
	4.3		4.0	3.5

<sup>\*</sup> ITALIAN DID NOT HAVE ENOUGH MALE STUDENTS IN EACH CELL.



# TABLE II-E MECHANICS OF ENGLISH - ACHIEVEMENT GRADE 2 - MALES

SOURCE	SUM OF SQUARES	DEGREES CF FREEDOM	VARIANCE	F
INTELLIGENCE	1.39	2	0.69	193 (N.S.)
LANGUAGE	11.78	2	5.89	16.36 (.01)
INTERACTION	1.26	4	0.32	0.89 (N.S.)
WITHIN	28.82	81	0.36	
TOTAL	43.25	89		

TABLE 11-E INDICATES THAT FOR 2ND GRADE MECHANICS OF ENGLISH ACHIEVEMENT FOR THE MALES, 1.Q. LEVEL WAS NOT A SIGNIFICANT FACTOR (.05).
BY INSPECTING THE 1.Q. MEANS IT WAS SEEN THAT THERE WAS NO SYSTEMATIC
VARIATION. THE EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP SOURCE SHOWED
A SIGNIFICANCE AT THE (.01) LEVEL. NO SIGNIFICANT INTERACTION (.05) WAS FOUND
BETWEEN INTELLIGENCE AND THE EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP.
AN INSPECTION OF THE MEANS IN TABLE 11-E-1 REVEALED THAT THE OVERALL
MEAN SCORES OF THE EXPERIMENTAL GROUPS WERE HIGHER THAN THAT OF THE
CONTROL GROUP. OF THE EXPERIMENTAL GROUP FRENCH HAD THE HIGHEST MEAN
AND SPANISH THE LOWEST MEAN SCORE. A CRITICAL RATIO WAS RUN BETWEEN THE
OVERALL MEAN OF THE LANGUAGE GROUPS AND THE CONTROL GROUP MEAN AND FOUND
TO BE NON-SIGNIFICANT (.05).

TABLE II-E-1
MEAN SCORE BY GROUP

I.Q. INTERVAL	FRENCH	*ITALIAN	SPANISH	CONTROL
92 то 115	4.0		4.0	3.5
116 то 125	4.3	*** <b>**</b>	3.8	3.1
126 то 168	4.5	500 WA	4.0	3.6
	4.3		3.9	3.4

<sup>\*</sup> ITALIAN DID NOT HAVE ENOUGH MALE STUDENTS IN EACH CELL.



## TABLE II F SPELLING ACHIEVEMENT GRADE 2 - MALES

SOURCE	SUM OF SQUARES	DEGREES OF FREEDOM	VARIANCE	F
INTELLIGENCE	0.61	2	0.31	0.56 (N.S.)
LANGUAGE	15.01	2	7.51	13.65 (.01)
INTERACTION	1.90	4	0.48	0.87 (N.S.)
WITHIN	44.50	81	0.55	
TOTAL	62.02	. 89		

TABLE 11-F INDICATES THAT FOR 2ND GRADE SPELLING - ACHIEVEMENT FOR THE MALES, 1.Q. LEVEL WAS NOT A SIGNIFICANT FACTOR (.05). BY INSPECTING THE 1.Q. MEANS IT WAS SEEN THAT THE HIGHER 1.Q. CHILDREN HAD HIGHER SPELLING SCORES. THE EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP SOURCE SHOWED A SIGNIFICANCE AT THE (.01) LEVEL. NO SIGNIFICANT INTERACTION (.05) WAS FOUND BETWEEN INTELLIGENCE AND THE EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP. AN INSPECTION OF THE MEANS IN TABLE 11-F-1 REVEALED THAT THE OVERALL MEAN SCORES OF THE EXPERIMENTAL GROUPS WERE HIGHER THAN THAT OF THE CONTROL GROUP. OF THE EXPERIMENTAL GROUP FRENCH HAD THE HIGHEST MEAN AND SPANISH THE LOWEST MEAN SCORE. A CRITICAL RATIO WAS RUN BETWEEN THE OVERALL MEAN OF THE LANGUAGE GROUPS AND THE CONTROL GROUP MEAN AND FOUND TO BE NON-SIGNIFICANT (.05).

TABLE II-F-1
MEAN SCORE BY GROUP

I.Q. INTERVAL	FRENCH	*ITALIAN	SPANISH	CONTROL
92 то 115	4.9		4.4	3.4
116 то 125	4.7	and over	4.4	4.1
126 то 168	4.9		4.4	4.0
	4.8		4.4	3.8

<sup>\*</sup> ITALIAN DID NOT HAVE ENOUGH MALE STUDENTS IN EACH CELL.



### TABLE !!-G READING VOCABULARY - ACHIEVEMENT GRADE 2 - FEMALES

SOURCE	SUM OF SQUARES	DEGREES OF FREEDCM	VARIANCE	F
INTELLIGENCE	3.82	2	1.91	3.60 (.05)
LANGUAGE	4.05	3	1.35	2.55 (N.S.)
INTERACTION	6 <b>.3</b> 0	6	1.05	1.98 (N.S.)
WITHIN	50.62	96	0.53	
TOTAL	64.79	107		

TABLE 11-G INDICATES THAT FOR 2ND GRADE READING VOCABULARY -ACHIEVEMENT FOR THE FEMALES, 1.Q. LEVEL WAS A SIGNIFICANT FACTOR (.05). BY
INSPECTING THE 1.Q. MEANS IT WAS SEEN THAT THERE IS NO SYSTEMATIC VARIATION.
THE EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP SOURCE SHOWED NON-SIGNIFICANCE (.05). NO SIGNIFICANT INTERACTION (.05) WAS FOUND BETWEEN INTELLIGENCE AND THE EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP. AN INSPECTION OF
THE MEANS IN TABLE 11-G-1 REVEALED THAT THE OVERALL MEAN SCORES OF THE
EXPERIMENTAL GROUPS WERE HIGHER THAN THAT OF THE CONTROL GROUP. OF THE
EXPERIMENTAL GROUPS SPANISH HAD THE HIGHEST MEAN AND ITALIAN THE LOWEST
MEAN SCORE. A CRITICAL RATIO WAS RUN BETWEEN THE OVERALL MEAN OF THE
LANGUAGE GROUPS AND THE CONTROL GROUP MEAN AND FOUND TO BE NON-SIGNIFICANT
(.05).

TABLE II-G-1
MEAN SCORE BY GROUP

I.Q. INTERVAL	FRENCH	ITALIAN	SPANISH	CONTROL
92 то 115	4.4	4.4	4.7	3.5
116 то 125	4.7	4.4	4.8	4.2
126 то 168	4.5	4.7	4.7	4.9
	4.6	4.5	4.7	4.2



## TABLE II-H READING COMPREHENSION - ACHIEVEMENT GRADE 2 - FEMALES

SOURCE	SUM OF SQUARES	DEGREES OF FREEDOM	VARIANCE	F
INTELLIGENCE	3.83	2	1.92	4.17 (.01)
LANGUAGE	8.48	3	2.83	6.15 (.01)
INTERACTION	9.01	6	1.50	3.26 (.05)
WITHIN	44.17	96	0.46	
TOTAL	65.49	107		

Table 11-4 indicates that for 2nd Grade Reading Comprehension - Achievement for the females, 1.Q. Level was a significant factor (.01). By inspecting the 1.Q. means it was seen that the higher 1.Q. children had higher Reading Comprehension scores. The Experimental Language (vs. Control) group source showed a significance at the (.01) Level. A significant interaction (.05) was found between intelligence and the Experimental Language (vs. Control) group. An inspection of the means in Table 11-H-1 revealed that the overall mean scores of the Experimental groups were higher (except for French) than that of the Control group. Of the Experimental group Italian had the highest mean and Spanish the Lowest mean score. A critical ratio was run between the overall mean of the Language groups and the Control group mean and found to be significant at the (.01) Level.

TABLE II-H-1
MEAN SCORE BY GROUP

I.Q. INTERVAL	FRENCH	ITALIAN	SPANISH	CONTROL
92 то 115	3.7	4.4	4.4	3.3
116 то 125	4.3	4.1	4.4	3.7
126 то 168	3.8	4.9	4.4	4.5
	3.9	4.5	4.4	3.9

# TABLE ||-| ARITHMETIC REASONING - ACHIEVEMENT GRADE 2 - FEMALES

SOURCE	SUM OF SQUARES	DEGREES OF FREEDOM	VARIANCE	· F
INTELLIGENCE	2.82	2	1.41	5.04 (.01)
LANGUAGE	4.66	3	1.55	5.54 (.01)
INTERACTION	2.81	6	0.47	1.68 (N.S.)
WITHIN	26.71	96	0.28	
TOTAL	37.01	107		

TABLE 11-1 INDICATES THAT FOR 2ND GRADE ARITHMETIC REASONING - ACHIEVEMENT FOR THE FEMALES, 1.Q. LEVEL WAS A SIGNFICANT FACTOR (.01). BY INSPECTING THE 1.Q. MEANS IT WAS SEEN THAT THE HIGHER 1.Q. CHILDREN HAD HIGHER ARITHMETIC REASONING SCORES. THE EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP SOURCE SHOWED A SIGNIFICANCE AT THE (.01) LEVEL. NO SIGNIFICANT INTERACTION (.05) WAS FOUND BETWEEN INTELLIGENCE AND THE EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP. AN INSPECTION OF THE MEANS IN TABLE 11-1-1 REVEALED THAT THE OVERALL MEAN SCORES OF THE EXPERIMENTAL GROUPS WERE HIGHER THAN THAT OF THE CONTROL GROUP. OF THE EXPERIMENTAL GROUP SPANISH HAD THE HIGHEST MEAN AND FRENCH THE LOWEST MEAN SCORE. A CRITICAL RATIO WAS RUN BETWEEN THE OVERALL MEAN OF THE LANGUAGE GROUPS AND THE CONTROL GROUP MEAN AND FOUND TO BE NON-SIGNIFICANT (.05).

TABLE | | - | - 1 | MEAN SCORE BY GROUP

I.Q. INTERVAL	FRENCH	ITALIAN	SPANISH	CONTROL
92 то 115	4.0	4.3	4.5	3.7
116 то 125	4.6	4.3	4.5	3.8
126 то 168	4.3	4.8	4.8	4.4
	4.3	4.4	4.5	4.0



# TABLE II-J ARITHMETIC FUNDAMENTAL - ACHIEVEMENT GRADE 2 - FEMALES

SOURCE	SUM OF SQUARES	DEGREES OF FREEDOM	VARIANCE	F
INTELLIGENCE	7.58	2	3.79	8.24 (.01)
LANGUAGE	2.37	3	0.79	1.72 (N.S.)
INTERACTION	4.73	6	0.79	1.72 (N.S.)
WITHIN	43.86	96	0.46	
TOTAL	58.54	107		

Table 11-J indicates that for 2nd Grade Arithmetic Fundamental - Achievement for the Females, 1.Q. Level was a significant factor (.01). By inspecting the 1.Q. means it was seen that the higher 1.Q. children had higher Arithmetic Fundamental scores. The Experimental Language (vs. Control) group source was Non-Significant at the (.05) Level. No significant interaction (.05) was found between intelligence and the Experimental Language (vs. Control) group. An inspection of the means in Table 11-J-1 revealed that the overall mean scores of the Experimental groups were higher than that of the Control group. Of the Experimental group French had the highest mean and Italian the Lowest mean score. A critical ratio was run between the overall mean of the Language groups and the Control group mean and found to be Non-Significant (.05).

TABLE II-J-1
MEAN SCCRE BY GROUP

I.Q. INTERVAL	FRENCH	ITALIAN	SPANISH	CONTROL
92 то 115	3.5	3.9	3.7	3.7
116 то 125	4.3	3.9	4.3	3.8
126 то 168	4.9	4.1	4.4	4.0
	4.2	4.0	4.1	3.8



# TABLE II-K MECHANICS OF ENGLISH - ACHIEVEMENT GRADE 2 - FEMALES

SOURCE	SUM OF SQUARES	DEGREES OF FREEDOM	VARIANCE	F
INTELLIGENCE	7.06	2	3.53	7.84 (.01)
LANGUAGE	3.56	3	1.19	2.64 (N.S.)
INTERACTION	2.99	6	0.50	1.11 (N.S.)
WITHIN	43.53	96	0.45	
TOTAL	57.14	107		

TABLE 11-K INDICATES THAT FOR 2ND GRADE MECHANICS OF ENGLISH - ACHIEVEMENT FOR THE FEMALES 1.Q. LEVEL WAS A SIGNIFICANT FACTOR (.01). BY INSPECTING THE 1.Q. MEANS IT WAS SEEN THAT THE HIGHER 1.Q. CHILDREN HAD HIGHER MECHANICS OF ENGLISH SCORES. THE EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP SOURCE WAS NON SIGNIFICANT AT THE (.05) LEVEL. NO SIGNIFICANT INTERACTION (.05) WAS FOUND BETWEEN INTELLIGENCE AND THE EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP. AN INSPECTION OF THE MEANS IN TABLE 11-K-1 REVEALED THAT THE OVERALL MEAN SCORES OF THE EXPERIMENTAL GROUPS WERE HIGHER THAN THAT OF THE CONTROL GROUP. OF THE EXPERIMENTAL GROUP FRENCH HAD THE HIGHEST MEAN WITH SPANISH AND ITALIAN TIED FOR THE LOWEST MEAN SCORE. A CRITICAL RATIO WAS RUN BETWEEN THE OVERALL MEAN OF THE LANGUAGE GROUPS AND THE CONTROL GROUP MEAN AND FOUND TO BE NON-SIGNIFICANT (.05).

TABLE II-K-1
MEAN SCCRE BY GROUP

1.Q. INTERVAL	FRENCH	ITALIAN	SPANISH	CONTROL
92 то 115	4.0	4.1	3.8	3.5
116 то 125	4.8	4.3	4.6	3.8
126 то 168	4.4	4.4	4.4	4.4
	4.4	4.3	4.3	3.9



### TABLE II-L SPELLING - ACHIEVEMENT GRADE 2 - FEMALES

SOURCE	SUM OF SQUARES	DEGREES OF FREEDCM	VARIANCE	F
INTELLIGENCE	5.23	2	2.62	5.14 (.01)
LANGUAGE	4.16	3	1.39	2.73 (N.S.)
INTERACTION	2.72	6	0.45	0.88 (N.S.)
WITHIN	49.03	96	0.51	
TOTAL	61.14	107		

TABLE 11-L INDICATES THAT FOR 2ND GRADE SPELLING - ACHIEVEMENT FOR THE FEMALES, 1.Q. LEVEL WAS A SIGNIFICANT FACTOR (.01). BY INSPECTING THE 1.Q. MEANS IT WAS SEEN THAT THE HIGHER 1.Q. CHILDREN HAD HIGHER SPELLING SCORES. THE EXPERIMENTAL LANGUAGE (vs. Control) group source was Non-Significant at the (.05) Level. No significant interaction (.05) was found between intelligence and the Experimental Language (vs. Control) group. An inspection of the means in Table 11-L-1 revealed that the overall mean scores of the Experimental groups were higher (except for Italian which was lower) than that of the Control group. Of the Experimental group French had the highest mean and Italian the Lowest mean score. A critical ratio was run between the overall mean of the Language groups and the Control group mean and found to be Non-Significant (.05).

TABLE II-L-1
MEAN SCORE BY GROUP

I.Q. INTERVAL	FRENCH	I TAL IAN	SPANISH	CONTROL
92 то 115	4.2	4.2	4.5	3.8
116 то 125	4.8	4.1	4.7	4.6
126 то 168	5.2	4.6	4.6	4.6
	4.8	4.3	4.6	4.5



# TABLE II-M READING - TEACHER GRADES GRADE 2 - MALES

SOURCE	SUM OF SQUARES	DEGREES OF FREEDOM	VARIANCE	F
INTELLIGENCE	50	2	25.0	1.21 (N.S.)
LANGUAGE	562	2	281.0	11.38 (.01)
INTERACTION	71	4	17.8	0.72 (N.S.)
WITHIN	2000	81	24.7	<u> </u>
TOTAL	2683	89		

TABLE 11-M INDICATES THAT FOR 2ND GRADE READING - TEACHER GRADES FOR THE MALES, I.Q. LEVEL WAS NOT A SIGNIFICANT FACTOR (.05). BY INSPECTING THE I.Q. MEANS IT WAS SEEN THAT THERE IS NO SYSTEMATIC VARIANCE. THE EXPERIMENTAL LANGUAGE (vs. CONTROL) GROUP SOURCE SHOWED A SIGNIFICANCE AT THE (.01) LEVEL. NO SIGNIFICANT INTERACTION (.05) WAS FOUND BETWEEN INTELLIGENCE AND THE EXPERIMENTAL LANGUAGE (vs. CONTROL) GROUP. AN INSPECTION OF THE MEANS IN TABLE II-M-1 REVEALED THAT THE OVERALL MEAN SCORES OF THE EXPERIMENTAL GROUPS WERE HIGHER THAN THAT OF THE CONTROL GROUP. OF THE EXPERIMENTAL GROUP FRENCH HAD A SLIGHTLY HIGHER MEAN THAN THE SPANISH GROUP. A CRITICAL RATIO WAS RUN BETWEEN THE OVERALL MEAN OF THE LANGUAGE GROUPS AND THE CONTROL GROUP MEAN AND FOUND TO BE NON-SIGNIFICANT (.05).

TABLE II-M-1
MEAN SCORE BY GROUP

I.Q. INTERVAL	FRENCH	*ITALIAN	SPANISH	CONTROL
92 то 115	93.2	esto sum	92.5	85.1
116 то 125	92.8	***	93.6	89.6
126 то 168	93.5		92.8	88.6
	93.1		93.0	87.7

<sup>\*</sup> ITALIAN DID NOT HAVE ENOUGH MALE STUDENTS IN EACH CELL.

## TABLE II-N LANGUAGE ARTS - TEACHER GRADES GRADE 2 - MALES

SOURCE	SUM OF SQUARES	DEGREES OF FREEDOM	VARIANCE	<u> </u>
INTELLIGENCE	16	2	8.0	0.42 (N.S.)
LANGUAGE	709	2	354.5	18.66 (.01)
INTERACTION	487	4	121.7	6.41 (.01)
WITHIN	1542	81	19.0	
TOTAL	2754	89	•	

TABLE 11-N INDICATES THAT FOR 2ND GRADE LANGUAGE ARTS - TEACHER GRADES FOR THE MALES, 1.Q. LEVEL WAS NOT A SIGNIFICANT FACTOR (.05). BY INSPECTING THE 1.Q. MEANS IT WAS SEEN THAT THERE WAS NO SYSTEMATIC VARIATION. THE EXPERIMENTAL (VS. CONTROL) GROUP SOURCE SHOWED A SIGNIFICANCE AT THE (.01) LEVEL. NO SIGNIFICANT INTERACTION (.05) WAS FOUND BETWEEN INTELLIGENCE AND THE EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP. AN INSPECTION OF THE MEANS IN TABLE 11-N-1 REVEALED THAT THE OVERALL MEAN SCORES OF THE EXPERIMENTAL GROUPS WERE HIGHER THAN THAT OF THE CONTROL GROUP. OF THE EXPERIMENTAL GROUP FRENCH HAD THE HIGHEST MEAN AND SPANISH THE LOWEST MEAN SCORE. A CRITICAL RATIO WAS RUN BETWEEN THE OVERALL MEAN OF THE LANGUAGE GROUPS AND THE CONTROL GROUP MEAN AND FOUND TO BE NON-SIGNIFICANT (.05).

TABLE II-N-1
MEAN SCORE BY GROUP

	1.Q. INTERVAL	FRENCH	*ITALIAN	SPANISH	CONTROL
i	92 то 115	92.8		93.3	85.0
Ţ	116 то 125	92.4	MAR NOTE	92.1	88.3
Ī	126 то 168	92.4	alle delle	91.3	86.0
Ţ		92.5	· m ma	92.2	86.4

<sup>\*</sup> ITALIAN DID NOT HAVE ENOUGH MALE STUDENTS IN EACH CELL



## TABLE 11-0 ARITHMETIC - TEACHER GRADES GRADE 2 - MALES

SOURCE	SUM OF SQUARES	DEGREES OF FREEDOM	VARIANCE	F
INTELLIGENCE	147	2	73.5	1.78 (N.S.)
LANGUAGE	404	2	202.0	4.89 (.01)
INTERACTION	54	4	13.5	0.33 (N.S.)
WITHIN	3342	81	41.3	
TOTAL	3947	89		

TABLE 11-0 INDICATES THAT FOR 2ND GRADE ARITHMETIC - TEACHER GRADES FOR THE MALES, I.Q. LEVEL WAS NOT A SIGNIFICANT FACTOR (.05). BY INSPECTING THE I.Q. MEANS IT WAS SEEN THAT THE HIGHER I.Q. CHILDREN HAD HIGHER ARITHMETIC SCORES. THE EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP SOURCE SHOWED A SIGNIFICANCE AT THE (.01) LEVEL. NO SIGNIFICANT INTERACTION (.05) WAS FOUND BETWEEN INTELLIGENCE AND THE EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP. AN INSPECTION OF THE MEANS IN TABLE 11-0-1 REVEALED THAT THE OVERALL MEAN SCORES OF THE EXPERIMENTAL GROUPS WERE HIGHER THAN THAT OF THE CONTROL GROUP. OF THE EXPERIMENTAL GROUP FRENCH HAD THE HIGHEST MEAN AND SPANISH THE LOWEST MEAN SCORE. A CRITICAL RATIO WAS RUN BETWEEN THE OVERALL MEAN OF THE LANGUAGE GROUPS AND THE CONTROL GROUP MEAN AND FOUND TO BE NON-SIGNIFICANT (.05).

TABLE II-0-1
MEAN SCCRE BY GROUP

I.Q. INTERVAL	FRENCH	*ITALIAN	SPANISH	CONTROL
92 то 115	90.0		90.7	85.1
116 то 125	92.7	915 mgs	90.0	86.6
126 то 168	93.8	Office that	91.6	89.6
	92.1		90.7	87.1

<sup>\*</sup> ITALIAN DID NOT HAVE ENOUGH MALES STUDENTS IN EACH CELL.

### TABLE II-P CITIZENSHIP EDUCATION - TEACHER GRADES GRADE 2 - MALES

SOURCE	SUM OF SQUARES	DEGREES OF FREEDOM	VARIANCE	F
INTELLIGENCE	16	2	8.0	0.52 (N.S.)
LANGUAGE	510	2	250.0	16.03 (.01)
INTERACTION	32	4	8.0	0.51 (N.S.)
WITHIN	1264	81	15.6	
TOTAL	1822	89		

Table 11-P indicates that for 2nd Grade Citizenship Education - Teacher Grades for the Males, 1.Q. Level was not a significant factor (.05). By inspecting the 1.Q. means it was seen that there was no systematic variation. The Experimental Language (vs. Control) group source showed a significance at the (.01) level. No significant interaction (.05) w·s found between intelligence and the Experimental Language (vs. Control) group. An inspection of the means in Table 11-P-1 revealed that the overall mean scores of the Experimental groups were higher than that of the Control group. Of the Experimental group French had a slightly higher mean than the Spanish group. A critical ratio was run between the overall mean of the Language groups and the Control group mean and found to be Non-Significant (.05).

TABLE II-P-1
MEAN SCORE BY GROUP

I.Q. INTERVAL	FRENCH	*ITALIAN	SPANISH	CONTROL
92 то 115	91.8		91.1	86.3
116 то 125	91.4		93.3	87.3
126 то 168	92.2	1994 4449	90.7	86.5
	91.8	en es	91.7	86.7

<sup>\*</sup> TALIAN DID NOT HAVE ENOUGH MALE STUDENTS IN EACH CELL



# TABLE 11-Q SCIENCE \_ TEACHER GRADES GRADE 2 - MALES

SOURCE	SUM OF SQUARES	DEGREES OF FREEDOM	VARIANCE	F
INTELLIGENCE	11	2	05.5	0.30 (N.S.)
LANGUAGE	621	2	310.5	16.85 (.01)
INTERACTION	510	4	127.5	0.69 (N.S.)
WITHIN	1493	81	18.4	
TOTAL	2176	89		

TABLE 11-Q INDICATES THAT FOR 2ND GRADE SCIENCE - TEACHER GRADES FOR THE MALES, 1.Q. LEVEL WAS NOT A SIGNIFICANT FACTOR (.05). BY INSPECTING THE 1.Q. MEANS IT WAS SEEN THAT THE HIGHER 1.Q. CHILDREN HAD SLIGHTLY HIGHER SCIENCE SCORES. THE EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP SOURCE SHOWED A SIGNIFICANCE AT THE (.01) LEVEL. NO SIGNIFICANT INTERACTION (.05) WAS FOUND BETWEEN INTELLIGENCE AND THE EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP. AN INSPECTION OF THE MEANS IN TABLE 11-Q-1 REVEALED THAT THE OVERALL MEAN SCORES OF THE EXPERIMENTAL GROUPS WERE HIGHER THAN THAT OF THE CONTROL GROUP. OF THE EXPERIMENTAL GROUP FRENCH HAD THE HIGHEST MEAN AND SPANISH THE LOWEST MEAN SCORE. A CRITICAL RATIO WAS RUN BETWEEN THE OVERALL MEAN OF THE LANGUAGE GROUPS AND THE CONTROL GROUP MEAN AND FOUND TO BE NON-SIGNIFICANT (.05).

TABLE II-Q-1
MEAN SCCRE BY GROUP

I.Q. INTERVAL	FRENCH	*ITALIAN	SPANISH	CONTROL
92 то 115	92.1		91.6	85 <b>.3</b>
116 то 125	91.2	***	93.1	86.6
126 то 168	93.0	***	91.0	87.4
	92.1		91.9	86.4

<sup>\*</sup> ITALIAN DID NOT HAVE ENOUGH MALE STUDENTS IN EACH CELL.



## TABLE II-R READING - TEACHER GRADES GRADE 2 - FEMALES

SOURCE	SUM OF SQUARES	DEGREES OF FREEDOM	VARIANCE	F
INTELLIGENCE	121	2	60.5	3.13 (.05)
LANGUAGE	194	3	64.7	3.35 (.05)
INTERACTION	197	6	<b>32.</b> 8	1.70 (N.S.)
WITHIN	2781	144	19.3	
TOTAL	3293	155		

TABLE 11-R INDICATES THAT FOR 2ND GRADE READING - TEACHER GRADES FOR THE FEMALES, 1.Q. LEVEL WAS A SIGNIFICANT FACTOR (.05). BY INSPECTING THE 1.Q. MEANS IT WAS SEEN THAT THE HIGHER 1.Q. CHILDREN HAD HIGHER READING SCORES. THE EXPERIMENTAL LANGUAGE (vs. CONTROL) GROUP SOURCE SHOWED A SIGNIFICANCE AT THE (.05) LEVEL. NO SIGNIFICANT INTERACTION (.05) WAS FOUND BETWEEN INTELLIGENCE AND THE EXPERIMENTAL LANGUAGE (vs. CONTROL) GROUP. AN INSPECTION OF THE MEANS IN TABLE 11-R-1 REVEALED THAT THE OVERALL MEAN SCORES OF THE EXPERIMENTAL GROUPS WERE HIGHER THAN THOSE OF THE CONTROL GROUP. OF THE EXPERIMENTAL GROUP ITALIAN HAD THE HIGHEST MEAN WHILE SPANISH AND FRENCH HAD IDENTICAL LOW MEAN SCORES. A CRITICAL RATIO WAS RUN BETWEEN THE OVERALL MEAN OF THE LANGUAGE GROUPS AND THE CONTROL GROUP MEAN AND FOUND TO BE NON-SIGNIFICANT (.05).

TABLE II-R-1
MEAN SCORE BY GROUP

I.Q. INTERVAL	FRENCH	ITALIAN	SPANISH	CONTROL
92 το 115	91.1	92.2	93.0	86.5
116 то 125	91.9	91.1	91.9	90.1
126 то 168	93.4	93.6	91.0	92.3
	92.1	92.3	92.1	89.6



# TABLE II-S LANGUAGE ARTS - TEACHER GRADES GRADE 2 - FEMALES

SOURCE	SUM OF SQUARES	DEGREES OF FREEDCM	VARIANCE	F
INTELLIGENCE	219	2	109.5	5.81 (.01)
LANGUAGE	89	3	29.7	1.58 (N.S.)
INTERACTION	257	6	42.8	2.27 (N.S.)
WITHIN	2714	144	18.9	
TOTAL	3279	155		

TABLE 11-S INDICATES THAT FOR 2ND GRADE LANGUAGE ARTS - TEACHER GRADES FOR THE FEMALES, I.Q. LEVEL WAS A SIGNIFICANT FACTOR (.01). BY INSPECTING THE I.Q. MEANS IT WAS SEEN THAT THE HIGHER I.Q. CHILDREN HAD HIGHER LANGUAGE ARTS SCORES. THE EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP SOURCE SHOWED NO SIGNIFICANCE AT THE (.05) LEVEL. NO SIGNIFICANT INTERACTION (.05) WAS FOUND BETWEEN INTELLIGENCE AND THE EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP. AN INSPECTION OF THE MEANS IN TABLE II-S-1 REVEALED THAT THE OVERALL MEAN SCORES OF THE EXPERIMENTAL GROUPS WERE HIGHER THAN THAT OF THE CONTROL GROUP. OF THE EXPERIMENTAL GROUP ITALIAN HAD THE HIGHEST MEAN AND FRENCH THE LOWEST MEAN SCORE. A CRITICAL RATIO WAS RUN BETWEEN THE OVERALL MEAN OF THE LANGUAGE GROUPS AND THE CONTROL GROUP MEAN AND FOUND TO BE NON-SIGNIFICANT (.01).

TABLE II-S-1
MEAN SCORE BY GROUP

I.Q. INTERVAL	FRENCH	ITALIAN	SPANISH	CONTROL
92 то 115	89.8	91.9	91.2	87.5
116 то 125	90.7	90.3	92.0	88.6
126 то 168	92.6	94.2	90.3	93.9
120 10 100	91.1	92.2	91.2	90.0



## TABLE II-T ARITHMETIC - TEACHER GRADES GRADE 2 - FEMALES

SOURCE	SUM OF SQUARES	DEGREES OF FREEDOM	VARIANCE	F
INTELLIGENCE	199	2	99.5	4.26 (.01)
LANGUAGE	303	3	101.0	4.33 (.01)
INTERACTION	234	6	39.0	1.67 (N.S.)
WITHIN	3362	144	23.4	
TOTAL	4098	155		

TABLE 11-T INDICATES THAT FOR 2ND GRADE ARITHMETIC - TEACHER GRADES FOR THE FEMALES, 1.Q. LEVEL WAS A SIGNIFICANT FACTOR (.01). BY INSPECTING THE 1.Q. MEANS IT WAS SEEN THAT THE HIGHER 1.Q. CHILDREN HAD HIGHER ARITHMETIC SCORES. THE EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP SOURCE SHOWED A SIGNIFICANCE AT THE (.01) LEVEL. NO SIGNIFICANT INTERACTION (.05) WAS FOUND BETWEEN INTELLIGENCE AND THE EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP. AN INSPECTION OF THE MEANS IN TABLE 11-T-1 REVEALED THAT THE OVERALL MEAN SCORES OF THE EXPERIMENTAL GROUPS WERE HIGHER THAN THAT OF THE CONTROL GROUP. OF THE EXPERIMENTAL GROUP ITALIAN HAD THE HIGHEST MEAN AND SPANISH THE LOWEST MEAN SCORE. A CRITICAL RATIO WAS RUN BETWEEN THE OVERALL MEAN OF THE LANGUAGE GROUPS AND THE CONTROL GROUP MEAN AND FOUND TO BE NON-SIGNIFICANT (.01).

TABLE II-T-1
MEAN SCCRE BY GROUP

I.Q. INTERVAL	FRENCH	ITALIAN	SPANISH	CONTROL
92 то 115	87.8	92.3	89.5	86.5
116 то 125	91.8	92.5	89.2	89.0
<b>126</b> to 168	91.7	94.2	90.4	92.8
	90.5	93.0	89.7	89.5



## TABLE II-U CITIZENSHIP EDUCATION - TEACHER GRADES GRADE 2 - FEMALES

SOURCE	SUM OF SQUARES	DEGREES OF FREEDOM	VARIANCE	F
INTELLIGENCE	27	2	13.5	0.81 (N.S.)
LANGUAGE	227	3	75.7	4.54 (.01)
INTERACTION	107	6	17.8	1.07 (N.S.)
WITHIN	2399	144	16.7	
TOTAL	2760	155		

TABLE 11-U INDICATES THAT FOR 2ND GRADE CITIZENSHIP EDUCATION - TEACHER GRADES FOR THE FEMALES, 1.Q. LEVEL WAS NOT A SIGNIFICANT FACTOR (.05). BY INSPECTING THE 1.Q. MEANS IT WAS SEEN THAT THE HIGHER 1.Q. CHILDREN HAD HIGHER CITIZENSHIP EDUCATION SCORES. THE EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP SOURCE SHOWED A SIGNIFICANCE AT THE (.01) LEVEL. NO SIGNIFICANT INTERACTION (.05) WAS FOUND BETWEEN INTELLIGENCE AND THE EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP. AN INSPECTION OF THE MEANS IN TABLE 11-U-1 REVEALED THAT OVERALL MEAN SCORES OF THE EXPERIMENTAL GROUPS WERE HIGHER THAN THAT OF THE CONTROL GROUP. OF THE EXPERIMENTAL GROUP ITALIAN HAD THE HIGHEST MEAN AND SPANISH THE LOWEST MEAN SCORE. A CRITICAL RATIO WAS RUN BETWEEN THE OVERALL MEAN OF THE LANGUAGE GROUPS AND THE CONTROL GROUP MEAN AND FOUND TO BE NON-SIGNIFICANT (.05).

TABLE II-U-1
MEAN SCCRE BY GROUP

I.Q. INTERVAL	FRENCH	ITALIAN	SPANISH	CONTROL
92 то 115	90.2	92.3	89.3	86,5
116 то 125	90.4	91.3	90.6	88.2
126 то 168	91.7	91.2	89.3	90.3
	90.8	91.6	89.7	88.4



## TABLE II-V SCIENCE - TEACHER GRADES GRADE 2 - FEMALES

SOURCE	SUM OF SQUARES	DEGREES OF FREEDCM	VARIANCE	F.
INTELLIGENCE	85	2	41.5	2.25 (N.S.)
LANGUAGE	256	3	85.3	4.64 (.01)
INTERACTION	123	6	20.5	1.11 (N.S.)
WITHIN	2656	144	18.4	
TOTAL	3118	155		

TABLE 11-V INDICATES THAT FOR 2ND GRADE SCIENCE - TEACHER GRADES FOR THE FEMALES, 1.Q. LEVEL WAS NOT A SIGNIFICANT FACTOR (.05). BY INSPECTING THE 1.Q. MEANS IT WAS SEEN THAT THE HIGHER 1.Q. CHILDREN HAD HIGHER SCIENCE SCORES. THE EXPERIMENTAL LANGUAGE (vs. CONTROL) GROUP. SOURCE SHOWED A SIGNIFICANCE AT THE (.01) LEVEL. NO SIGNIFICANT INTERACTION (.05) WAS FOUND BETWEEN INTELLIGENCE AND THE EXPERIMENTAL LANGUAGE (vs. CONTROL) GROUP. AN INSPECTION OF THE MEANS IN TABLE 11-V-1 REVEALED THAT THE OVERALL MEAN SCORES OF THE EXPERIMENTAL GROUPS WERE HIGHER THAN THAT OF THE CONTROL GROUP. OF THE EXPERIMENTAL GROUP FRENCH HAD THE HIGHEST MEAN AND SPANISH THE LOWEST MEAN SCORE. A CRITICAL RATIO WAS RUN BETWEEN THE OVERALL MEAN OF THE LANGUAGE GROUPS AND THE CONTROL GROUP MEAN AND FOUND TO BE NON-SIGNIFICANT (.05).

TABLE II-V-1
MEAN SCCRE BY GROUP

I.Q. INTERVAL	FRENCH	ITALIAN	SPANISH	CONTROL
92 то 115	90.4	90.8	89.8	85.1
1.16 то 125	90.6	89.4	89.8	87.3
126 то 168	91.6	91.1	89.8	90.2
	90.9	90.4	89.9	87.5



# TABLE III-A READING VOCABULARY - ACHIEVEMENT GRADE 3 - MALES

SOURCE	SUM OF SQUARES	DEGREES OF FREEDOM	VARIANCE	F
INTELLIGENCE	1.77	2	0.89	2.87 (N.S.)
LANGUAGE	11.69	2	5.85	18.89 (.01)
INTERACTION	1.71	4	0.43	1.38 (N.S.)
WITHIN	22.66	72	0.31	
TOTAL	37.83	80		

TABLE III-A INDICATES THAT FOR 3RD GRADE READING VOCABULARY - ACHIEVEMENT FOR THE MALES, I.Q. LEVEL WAS NOT A SIGNIFICANT FACTOR (.05). BY INSPECTING THE I.Q. MEANS IT WAS SEEN THAT THERE WAS NO SYSTEMATIC VARIATION. THE EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP SOURCE SHOWED A SIGNIFICANCE AT THE (.01). LEVEL. NO SIGNIFICANT INTERACTION (.05) WAS FOUND BETWEEN INTELLIGENCE AND THE EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP. AN INSPECTION OF THE MEANS IN TABLE III-A-1 REVEALED THAT THE OVERALL MEAN SCORES OF THE EXPERIMENTAL GROUPS WERE HIGHER THAN THAT OF THE CONTROL GROUP. OF THE EXPERIMENTAL GROUP FRENCH HAD THE HIGHEST MEAN AND SPANISH THE LOWEST MEAN SCORE. A CRITICAL RATIO WAS RUN BETWEEN THE OVERALL MEAN OF THE LANGUAGE GROUPS AND THE CONTROL GROUP MEAN AND FOUND TO BE NON-SIGNIFICANT (.05).

TABLE III-A-1
MEAN SCORE BY GROUP

I.Q. INTERVAL	FRENCH	*ITALIAN	SPANISH	CONTROL
92 то 115	5.7		5.1	4.6
116 то 125	5.6	-	5.7	5.2
126 то 168	5.7	****	5.4	4.5
	5.7		5.4	4.8

<sup>\*</sup> ITALIAN DID NOT HAVE ENOUGH MALE STUDENTS IN EACH CELL.



## TABLE III-B READING CCMPREHENSION - ACHIEVEMENT GRADE 3 - MALES

SOURCE	SUM OF SQUARES	DEGREES OF FREEDCM	VARIANCE	F
INTELLIGENCE	225	2	1.13	3.05 (N.S.)
L.ANGUAGE	1423	2	7.12	1,9.24 (.01)
INTERACTION	243	4	0.61	1.15 (N.S.)
WITHIN	2660	72	0.37	
TOTAL	4551	80		

Table 111-B indicates that for 3rd Grade Reading Comprehension - Achievement for the Males, 1.Q. Level was not a significant factor (.05). By inspecting the 1.Q. means it was seen that there was no systematic variation. The Experimental Language (vs. Control) group source showed a significance at the (.01) level. No significant interaction (.05) was found between intelligence and the Experimental Language (vs. Control) group. An inspection of the means in Table 111-B-1 revealed that the overall mean scores of the Experimental groups were higher than that of the Control group. Of the Experimental group French had the highest mean and Spanish the Lowest mean score. A critical ratio was run between the overall mean of the Language groups and the Control group mean and found to be Non-Significant (.05).

TABLE III-B-1
MEAN SCCRE BY GROUP

I.Q. INTERVAL	FRENCH	*ITALIAN	SPANISH	CONTROL
92 то 115	5.5	400 400	5.3	4.6
116 то 125	5.7	PR 600	5.4	5.0
126 то 168	5.3		5.6	4.1
	5.5		5.4	4.6

<sup>\*</sup> ITALIAN DID NOT HAVE ENOUGH MALE STUDENTS IN EACH CELL.



# TABLE III-C ARITHMETIC REASONING - ACHIEVEMENT GRADE 3 - MALES

SOURCE	SUM OF SQUARES	DEGREES OF FREEDOM	VARIANCE	F
INTELLIGENCE	1.37	2	0.69	4.06 (.01)
LANGUAGE	4.83	2	2.41	14.17 (.05)
INTERACTION	0.85	4	0.21	1.24 (N.S.)
WITHIN	12.15	72	0.17	
TOTAL	19.20	80		

TABLE 111-C INDICATES THAT FOR 3RD GRADE ARITHMETIC REASONING — ACHIEVEMENT FOR THE MALES, I.Q. LEVEL WAS A SIGNIFICANT FACTOR (.01). BY INSPECTING THE I.Q. MEANS IT WAS SEEN THAT THERE WAS NO SYSTEMATIC VARIATION. THE EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP SOURCE SHOWED A SIGNIFICANCE AT THE (.05) LEVEL. NO SIGNIFICANT INTERACTION (.05) WAS FOUND BETWEEN INTELLIGENCE AND THE EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP. AN INSPECTION OF THE MEANS IN TABLE 111-C-1 REVEALED THAT THE OVERALL MEAN SCORES OF THE EXPERIMENTAL GROUPS WERE HIGHER THAN THAT OF THE CONTROL GROUP. OF THE EXPERIMENTAL GROUP FRENCH HAD A SLIGHTLY HIGHER MEAN THAN THE SPANISH GROUP. A CRITICAL RATIO WAS RUN BETWEEN THE OVERALL MEAN OF THE LANGUAGE GROUPS AND THE CONTROL GROUP MEAN AND FOUND TO BE NON-SIGNIFICANT (.05).

TABLE III-C-1
MEAN SCCRE BY GROUP

I.Q. INTERVAL	FRENCH	*ITALIAN	SPANISH	CONTROL
92 то 115	5.4	400 age	5.1	4.5
116 то 125	5.6	digit silan	5.3	5.1
126 то 168	5.3	40 40	5.4	4.9
	5.4		5.3	4.8

<sup>\*</sup> ITALIAN DID NOT HAVE ENOUGH MALE STUDENTS IN EACH CELL.



## TABLE III-D ARITHMETIC FUNDAMENTAL - ACHIEVEMENT GRADE 3 - MALES

SOURCE	SUM OF SQUARES	DEGREES OF FREEDOM	VARIANCE	F
INTELLIGENCE	0.21	2	0.11	0.03 (N.S.)
LANGUAGE	7.89	2	3.94	1.22 (N.S.)
INTERACTION	1.13	4	0.28	0.09 (N.S.)
WITHIN	23.24	72	3.22	
TOTAL	32.47	80		

TABLE 111-D INDICATES THAT FOR 3RD GRADE ARITHMETIC FUNDAMENTAL - ACHIEVEMENT FOR THE MALES, I.Q. LEVEL WAS NOT A SIGNIFICANT FACTOR (.05). BY INSPECTING THE I.Q. MEANS IT WAS SEEN THAT THERE WAS NO SYSTEMATIC VARIATION. THE EXPERIMENTAL LANGUAGE (vs. CONTROL) GROUP SOURCE SHOWED NON-SIGNIFICANCE AT THE (.05) LEVEL. NO SIGNIFICANT INTERACTION (.05) WAS FOUND BETWEEN INTELLIGENCE AND THE EXPLAIMENTAL LANGUAGE (vs. CONTROL) GROUP. AN INSPECTION OF THE MEANS IN TABLE 111-D-1 REVEALED THAT THE OVERALL MEAN SCORES OF THE EXPERIMENTAL GROUPS WERE HIGHER THAN THAT OF THE CONTROL GROUP. OF THE EXPERIMENTAL GROUP SPANISH HAD A SLIGHTLY HIGHER MEAN THAN THE FRENCH GROUP. A CRITICAL RATIO WAS RUN BETWEEN THE OVERALL MEAN OF THE LANGUAGE GROUPS AND THE CONTROL GROUP MEAN AND FOUND TO BE NON-SIGNIFICANT (.05).

TABLE III-D-1
MEAN SCCRE BY GROUP

1.Q. INTERVAL	FRENCH	*ITALIAN	SPANISH	CONTROL
92 то 115	5.3	~	5.1	4.5
116 то 125	5.3	400 400	5.4	4.5
126 то 168	5.1	49 40	5.3	4.8
	5.2		5.3	4.6

<sup>\*</sup> TALIAN DID NOT HAVE ENOUGH MALE STUDENTS IN EACH CELL.



# TABLE III-E MECHANICS OF ENGLISH - ACHIEVEMENT GRADE 3 - MALES

SOURCE	SUM OF SQUARES	DEGREES OF FREEDCM	VARIANCE	F
INTELLIGENCE	1.99	2	0.99	1.32 (N.S.)
LANGUAGE	9.73	2	4.87	6.49 (.01)
INTERACTION	2.12	4	0.53	0.71 (N.S.)
WITHIN	54.19	72	0.75	
TOTAL	68.03	80		

TABLE 111-E INDICATES THAT FOR 3RD GRADE MECHANICS OF ENGLISH - ACHIEVEMENT FOR THE MALES, 1.Q. LEVEL WAS NOT A SIGNIFICANT FACTOR (.05). BY INSPECTING THE 1.Q. MEANS IT WAS SEEN THAT THERE WAS NO SYSTEMATIC VARIATION. THE EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP SOURCE SHOWED A SIGNIFICANCE AT THE (.01) LEVEL. NO SIGNIFICANT INTERACT: ON (.05) WAS FOUND BETWEEN INTELLIGENCE AND THE EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP. AN INSPECTION OF THE MEANS IN TABLE 111-E-1 REVEALED THAT THE OVERALL MEAN SCORES OF THE EXPERIMENTAL GROUPS WERE HIGHER THAN THAT OF THE CONTROL GROUP. OF THE EXPERIMENTAL GROUP FRENCH HAD THE HIGHEST MEAN AND SPANISH THE LOWEST MEAN SCORE. A CRITICAL RATIO WAS RUN BETWEEN THE OVERALL MEAN OF THE LANGUAGE GROUPS AND THE CONTROL GROUP MEAN AND FOUND TO BE NON-SIGNIFICANT (.05).

TABLE III-E-1
MEAN SCORE BY GROUP

I.Q. INTERVAL	FRENCH	*ITALIAN	SPANISH	CONTROL
92 то 115	5.2	<b>**</b> ***	· 4.5	4.4
116 то 125	5.1	-	4.5	4.4
126 то 168	5.4		5.3	4.4
	5.2		4.8	4.4

<sup>\*</sup> ITALIAN DID NOT HAVE ENOUGH MALE STUDENTS IN EACH CELL.



## TABLE III-F SPELLING - ACHIEVEMENT GRADE 3 - MALES

SOURCE	SUM OF SQUARES	DEGREES OF FREEDCM	VARIANCE	F
INTELLIGENCE	0.62	2	0.31	0.94 (N.S.)
LANGUAGE	7.19	2	3.59	10.88 (.01)
INTERACTION	0.94	4	0.24	0.72 (N.S.)
WITHIN	23.83	72	0.33	
TOTAL	32.58	80		Marie Afficiant Control Contro

TABLE 111-F INDICATES THAT FOR 3RD GRADE SPELLING - ACHIEVEMENT FOR THE MALES, 1.Q. LEVEL WAS NOT A SIGNIFICANT FACTOR (.05). BY INSPECTING THE 1.Q. MEANS IT WAS SEEN THAT THERE WAS NO SYSTEMATIC VARIATION. THE EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP SOURCE SHOWED A SIGNIFICANCE AT THE (.01) LEVEL. NO SIGNIFICANT INTERACTION (.05) WAS FOUND BETWEEN INTELLIGENCE AND THE EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP. AN INSPECTION OF THE MEANS IN TABLE 111-F-1 REVEALED THAT THE OVERALL MEAN SCORES OF THE EXPERIMENTAL GROUPS WERE HIGHER THAN THAT OF THE CONTROL GROUP. OF THE EXPERIMENTAL GROUP FRENCH HAD THE HIGHEST MEAN AND SPANISH THE LOWEST MEAN SCORE. A CRITICAL RATIO WAS RUN BETWEEN THE OVERALL MEAN OF THE LANGUAGE GROUPS AND THE CONTROL GROUP MEAN AND FOUND TO BE NON-SIGNIFICANT (.05).

TABLE III-F-1
MEAN SCCRE BY GROUP

I.Q. INTERVAL	FRENCH	*ITALIAN	SPANISH	CONTROL
92 то 115	5.6		5.0	4.7
116 то 125	5.5	the top	5.3	5.1
126 то 168	5.6	***	5.3	4.7
	5.6	****	5.2	4.8

<sup>\*</sup> ITALIAN DID NOT HAVE ENOUGH MALE STUDENTS IN EACH CELL.



# TABLE III-G READING VOCABULARY - ACHIEVEMENT GRADE 3 - FEMALES

SOURCE	SUM OF SQUARES	DEGREES OF FREEDCM	VARIANCE	F
INTELLIGENCE	7.07	2	3.53	10.09 (.01)
LANGUAGE	3.09	3	1.03	2.94 (N.S.)
INTERACTION	1.01	6	0.17	0.48 (N.S.)
WITHIN	50.08	144	0.35	
TOTAL	61.25	155		

Table 111-G INDICATES THAT FOR 3RD GRADE READING VOCABULARY - ACHIEVEMENT FOR THE FEMALES, 1.Q. LEVEL WAS A SIGNIFICANT FACTOR (.01). By inspecting the 1.Q. means it was seen that the higher 1.Q. children had higher Reading Vocabulary scores. The Experimental Language (vs. Control) group source showed a Non-Significance at the (.05) level. No significant interaction (.05) was found between intelligence and the Experimental Language (vs. Control) group. An inspection of the means in Table 111-G-1 revealed that overall mean scores of the Experimental groups were higher than that of the Control group. Of the Experimental group French had the highest mean and Spanish the Lowest mean score. A critical ratio was run between the overall mean of the Language groups and the Control group mean and found to be Non-Significant (.05).

TABLE III-G-1
MEAN SCCRE BY GROUP

I.Q. INTERVAL	FRENCH	"ITALIAN	SPANISH	CONTROL
92 то 115	5.4	4.8	5 <b>.3</b>	4.9
116 то 125	5.7	5.5	5.5	5.1
126 то 168	5 <b>.</b> 8	<b>5.</b> 8	5.6	5.6
	5.6	5.5	5.4	5.2



## TABLE III- H READING CCMPREHENSION - ACHIEVEMENT GRADE 3 - FEMALES

SOURCE	SUM CF SQUARES	DEGREES CF FREEDCM	VARIANCE	F
INTELLIGENCE	6.13	2	3.06	8.27 (.01)
LANGUAGE	5.28	3	1.76	4.75 (.01)
INTERACTION	7.45	6	1.24	3.35 (.05)
WITHIN	53.88	144	0.37	
TOTAL	72.74	155		

Table 111-H indicates that for 3rd Grade Reading Comprehension - Achievement for the Females, 1.Q. Level was a significant factor (.01). By inspecting the 1.Q. means it was seen that the higher 1.Q. children had higher Reading Comprehension scores. The Experimental Language (vs. Control) group source showed a significance at the (.01) Level. A significant interaction (.05) was found between Intellic nce and the Experimental Language (vs. Control) group. An inspection of the means in Table 111-H-1 revealed that the overall mean scores of the Experimental groups were higher than that of the Control group. Of the Experimental group French and Italian had the same high mean and Spanish the Lowest mean score. A critical ratio was run between the overall mean of the Language groups and the Control group mean and found to be Non-Significant (.05).

TABLE III-H-1
MEAN SCORE BY GROUP

I.Q. INTERVAL	FRENCH	ITALIAN	SPANISH	CONTROL
92 to 115	5.5	5.7	5.3	4.7
116 то 125	5.8	5.5		5.1
126 то 168	5.7	6.0	5.6	6.0
	5.7	5.7	5.5	5.3



# TABLE |||-| ARITHMETIC REASONING - ACHIEVEMENT GRADE 3 - FEMALES

SOURCE .	SUM OF SQUARES	DEGREES OF FREEDCM	VARIANCE	F
INTELLIGENCE	7.70	2	3.85	13.75 (.01)
LANGUAGE	2.89	3	0.96	3.43 (.05)
INTERACTION	3.15	6	5.25	18.75 (.01)
WITHIN	40.80	144	0.28	
TOTAL	54.54	155		

TABLE 111-1 INDICATES THAT FOR 3RD GRADE ARITHMETIC REASONING ACHIEVEMENT FOR THE FEMALES, 1.Q. LEVEL WAS A SIGNIFICANT FACTOR (.01).
BY INSPECTING THE 1.Q. MEANS IT WAS SEEN THAT THE HIGHER 1.Q. CHILDREN
HAD HIGHER ARITHMETIC REASONING SCORES. THE EXPERIMENTAL LANGUAGE (VS.
CONTROL) GROUP SOURCE SHOWED A SIGNIFICANCE AT THE (.05) LEVEL. A
SIGNIFICANT INTERACTION (.01) WAS FOUND BETWEEN INTELLIGENCE AND THE
EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP. AN INSPECTION OF THE MEANS
IN TABLE 111-1-1 REVEALED THAT THE OVERALL MEAN SCORES OF THE EXPERIMENTAL
GROUPS WERE HIGHER THAN THOSE OF THE CONTROL GROUP. OF THE EXPERIMENTAL
GROUP ITALIAN AND SPANISH HAD THE SAME HIGH MEAN AND FRENCH THE LOWEST
MEAN SCORE. A CRITICAL RATIO WAS RUN BETWEEN THE OVERALL MEAN OF THE
LANGUAGE GROUPS AND THE CONTROL GROUP MEAN AND FOUND TO BE NON-SIGNIFICANT
(.05).

TABLE | | | - | - | 1 | MEAN SCCRE BY GROUP

I.Q. INTERVAL	FRENCH	ITALIAN	SPANISH	CCNTROL
92 to 115	5.0	5.0	5.2	4.5
116 то 125	5.3	4.7	5.3	4.9
126 то 168	5.3	5.6	5.5	5.6
	5.2	5.3	5.3	5.0



## TABLE III-J ARITHMETIC FUNDAMENTAL - ACHIEVEMENT GRADE 3 - FEMALES

SOURCE	SUM OF SQUARES	DEGREES OF FREEDOM	VARIANCE	F
INTELLIGENCE	2.97	2	1.48	13.45 (.01)
LANGUAGE	6.86	3	2.29	20.81 (.01)
INTERACTION	32.55	6	5 <b>.43</b>	49.36 (.01)
WITHIN	15.92	144	0.11	
TOTAL	58.30	155		

TABLE 111-J INDICATES THAT FOR 3RD GRADE ARITHMETIC FUNDAMENTAL ACHIEVEMENT FOR THE FEMALES, 1.Q. LEVEL WAS A SIGNIFICANT FACTOR (.01).
BY INSPECTING THE 1.Q. MEANS IT WAS SEEN THAT THE HIGHER 1.Q. CHILDREN
HAD HIGHER ARITHMETIC FUNDAMENTAL SCORES. THE EXPERIMENTAL LANGUAGE
(VS. CONTROL) GROUP SOURCE SHOWED A SIGNIFICANCE AT THE (.01) LEVEL. A
SIGNIFICANT INTERACTION (.01) WAS FOUND BETWEEN INTELLIGENCE AND THE
EXPERIMENTAL LANGUAGE (VS.CONTROL) GROUP. AN INSPECTION OF THE MEANS. IN
TABLE 111-J-1 REVEALED THAT THE OVERALL MEAN SCORES OF THE EXPERIMENTAL
GROUPS WERE HIGHER THAN THAT OF THE CONTROL GROUP. OF THE EXPERIMENTAL
GROUP ITALIAN AND SPANISH HAD THE SAME HIGH MEAN AND FRENCH THE LOWEST
MEAN SCORE. A CRITICAL RATIO WAS RUN BETWEEN THE OVERALL MEAN OF THE
LANGUAGE GROUPS AND THE CONTROL GROUP MEAN AND FOUND TO BE NON-SIGNIFICANT
(.05).

TABLE III-J-1
MEAN SCCRE BY GROUP

I.Q. INTERVAL	FRENCH	ITALIAN	SPANISH	CONTROL
92 то 115	5.2	4.9	5.2	4.6
11.6 то 125	5.5	5.2	5.2	4.5
126 то 168	5 <b>.</b> 2	5.3	5.2	5.1
	5.4	5.2	5.2	4.7



## TABLE !!!-K MECHANICS OF ENGLISH - ACHIEVEMENT GRADE 3 - FEMALES

SOURCE	SUM CF SQUARES	DEGREES OF FREEDCM	VARIANCE	F
INTELLIGENCE	15.83	2	7.91	10.54 (.01)
LANGUAGE	8.21	3	2.73	3.62 (.05)
INTERACTION	1.09	6	0.18	0.24 (N.S.)
WITHIN	108.38	144	0.75	
TOTAL	133.51	155		

TABLE 111-K INDICATES THAT FOR 3RD GRADE MECHANICS OF ENGLISH ACHIEVEMENT FOR THE FEMALES, 1.Q. LEVEL WAS A SIGNIFICANT FACTOR (.01).
BY INSPECTING THE 1.Q. MEANS IT WAS SEEN THAT THE HIGHER 1.Q. CHILDREN
HAD HIGHER MECHANICS OF ENGLISH SCORES. THE EXPERIMENTAL LANGUAGE (VS.
CONTROL) GROUP SOURCE SHOWED A SIGNIFICANCE AT THE (.05) LEVEL. NO
SIGNIFICANT INTERACTION (.05) WAS FOUND BETWEEN INTELLIGENCE AND THE
EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP. AN INSPECTION OF THE MEANS
IN TABLE 111-K-1 REVEALED THAT THE OVERALL MEANS SCORES OF THE EXPERIMENTAL
GROUPS WERE HIGHER THAN THAT OF THE CONTROL GROUP. OF THE EXPERIMENTAL
GROUP SPANISH HAD THE HIGHEST MEAN AND FRENCH AND ITALIAN HAD THE SAME LOW
MEAN SCORE. A CRITICAL RATIO WAS RUN BETWEEN THE OVERALL MEAN OF THE
LANGUAGE GROUPS AND THE CONTROL GROUP MEAN AND FOUND TO BE NON-SIGNIFICANT
(.05).

TABLE III-K-1
MEAN SCCRE BY GROUP

I.Q. INTERVAL	FRENCH	ITALIAN	SPANISH	CONTROL
92 то 115	5.0	5.1	4.6	4.5
116 то 125	5.5	5.2	4.8	4.9
126 то 168	5.8	5.7	5.4	5.4
	5.4	5.4	4.9	4.9



# TABLE III-L SPELLING - ACHIEVEMENT GRADE 3 - FEMALES

SOURCE	SUM OF SQUARES	DEGREES OF FREEDCM	VARIANCE	F
INTELLIGENCE	9.21	2	4.60	8.67 (.01)
LANGUAGE	2.31	3	0.77	1.45 (N.S.)
INTERACTION	4.67	6	0.78	1.47 (N.S.)
WITHIN	76.54	144	0.53	
TOTAL	92.73	155		

TABLE III-L INDICATES THAT FOR 3RD GRADE SPELLING - ACHIEVEMENT FOR THE FEMALES, I.Q. LEVEL WAS A SIGNIFICANT FACTOR (.01). BY INSPECTING THE I.Q. MEANS IT WAS SEEN THAT THE HIGHER I.Q. CHILDREN HAD HIGHER SPELLING SCORES. THE EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP SOURCE SHOWED A NON-SIGNIFICANCE AT THE (.05) LEVEL. NO SIGNIFICANT INTERACTION (.05) WAS FOUND BETWEEN INTELLIGENCE AND THE EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP. AN INSPECTION OF THE MEANS IN TABLE III-L-1 REVEALED THAT THE OVERALL MEAN SCORES OF THE EXPERIMENTAL GROUPS WERE HIGHER THAN THAT OF THE CONTROL GROUP. OF THE EXPERIMENTAL GROUP FRENCH HAD THE HIGHEST MEAN AND SPANISH THE LOWEST MEAN SCORE. A CRITICAL RATIO WAS RUN BETWEEN THE OVERALL MEAN OF THE LANGUAGE GROUPS AND THE CONTROL GROUP MEAN AND FOUND TO BE NON-SIGNIFICANT (.05).

TABLE III-L-1
MEAN SCCRE BY GROUP

I.Q. INTERVAL	FRENCH	ITALIAN	SPANISH	CONTROL
92 то 115	5.2	5.2	5.1	4.9
116 то 125	5.7	5.3	5.2	4.9
126 то 168	5.6	5.7	5.5	5.9
	5.5	5.4	5.3	5.2



### TABLE !!!-M READING - TEACHER GRADES GRADE 3 - MALES

SOURCE	SUM SQUARES	DEGREES OF FREEDCM	VARIANCE	F
INTÈLLIGENCE	330	2	165.0	7.93 (.01)
LANGUAGE	546	2	273.0	13.12 (.01)
INTERACTION	210	4	52.5	2.50 (N.S.)
WITHIN	1500	72	20.8	
TOTAL	2586	80		

TABLE 111-M INDICATES THAT FOR 3RD GRADE READING - TEACHER GRADES FOR THE MALES, 1.Q. LEVEL WAS A SIGNIFICANT FACTOR (.01). BY INSPECTING THE 1.Q. MEANS IT WAS SEEN THAT THE HIGHER 1.Q. CHILDREN HAD HIGHER READING SCORES. THE EXPERIMENTAL LANGUAGE (vs. Control) group source showed a significance at the (.01) level. No significant interaction (.05) was found between intelligence and the Experimental language (vs. Control) group. An inspection of the means in Table 111-M-1 revealed that the overall mean scores of the Experimental groups were higher than that of the Control group. Of the Experimental group French had the highest mean and Spanish the Lowest mean score. A critical ratio was run between the overall mean of the Language groups and the Control group mean and found to be Non-Significant (.05).

TABLE III-M-1
MEAN SCCRE BY GROUP

I.Q. INTERVAL	FRENCH	*ITALIAN	SPANISH	CONTROL
92 то 115	92.6	*** <b>***</b>	83.9	81.6
116 то 125	93.2	<b>40 40</b>	92.6	88.3
126 то 168	92.9	State quin	94.2	91.3
	92.9		92.2	87.0

<sup>\*</sup> ITALIAN DID NOT HAVE ENOUGH MALE STUDENTS IN EACH CELL.



## TABLE III-N LANGUAGE ARTS - TEACHER GRADES GRADE 3 - MALES

SOURCE	SUM OF SQUARES	DEGREES OF FREEDCM	VARIANCE	F
INTELLIGENCE	158	2	79.0	2.44 (N.S.)
LANGUAGE	854	2	427.0	13.21 (.01)
INTERACTION	14	4	3.5	0.11 (N.S.)
NIHTIW	<b>23</b> 29	72	32.3	
TOTAL	3355	80		

TABLE 111-N INDICATES THAT FOR 3RD GRADE LANGUAGE ARTS - TEACHER GRADES FOR THE MALES, 1.Q. LEVEL WAS NOT A SIGNIFICANT FACTOR (.05). BY INSPECTING THE 1.Q. MEANS IT WAS SEEN THAT THE HIGHER 1.Q. CHILDREN HAD HIGHER LANGUAGE AR'S SCORES. THE EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP SOURCE SHOWED A SIGNIFICANCE AT THE (.01) LEVEL. NO SIGNIFICANT INTERACTION (.05) WAS FOUND BETWEEN INTELLIGENCE AND THE EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP. AN INSPECTION OF THE MEANS IN TABLE 111-N-1 REVEALED THAT THE OVERALL MEAN SCORES OF THE EXPERIMENTAL GROUPS WERE HIGHER THAN THAT OF THE CONTROL GROUP. OF THE EXPERIMENTAL GROUP SPANISH HAD THE HIGHEST MEAN AND FRENCH THE LOWEST MEAN SCORE. A CRITICAL RATIO WAS RUN BETWEEN THE OVERALL MEAN OF THE LANGUAGE GROUPS AND THE CONTROL GROUP MEAN AND FOUND TO BE NON- SIGNFICANT (.05).

TABLE III-M-1
MEAN SCCRE BY GROUP

I.Q. INTERVAL	FRENCH	*ITALIAN	SPANISH	CONTROL
92 то 115	89.6	400 400	91.4	82.2
116 то 125	90.9	***	90.0	82.6
126 то 168	89.6		92.6	87.8
	90.8	ere vin	91.3	84.2

<sup>\*</sup> ITALIAN DID NOT HAVE ENOUGH MALE STUDENTS IN EACH CELL.



## TABLE !!!-0 ARITHMETIC - TEACHER GRADES GRADE 3 - MALES

SOURCE	SUM CF SQUARES	DEGREES OF FREEDOM	VARIANCE	F
INTELLIGENCE	203	2	101.5	2.60 (N.S.)
LANGUAGE	229	2	114.5	2.93 (N.S.)
INTERACTION	318	4	79.5	2.04 (N.S.)
WITHIN	2812	72	39.0	
TOTAL	3562	80		

TABLE 111-0 INDICATES THAT FOR 3RD GRADE ARITHMETIC - TEACHER GRADES FOR THE MALES, 1.Q. LEVEL WAS NOT A SIGNIFICANT FACTOR (.05). BY INSPECTING THE 1.Q. MEANS IT WAS SEEN THAT THE HIGHER 1.Q. CHILDREN HAD SLIGHTLY HIGHER ARITHMETIC SCORES. THE EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP SOURCE SHOWED A NON-SIGNIFICANCE AT THE (.05) LEVEL. NO SIGNIFICANT INTERACTION (.05) WAS FOUND BETWEEN INTELLIGENCE AND THE EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP. AN INSPECTION OF THE MEANS IN TABLE !!!-O-1 REVEALED THAT THE OVERALL MEAN SCORES OF THE EXPERIMENTAL GROUPS WERE HIGHER THAN THAT OF THE CONTROL GROUP. OF THE EXPERIMENTAL GROUP FRENCH HAD THE HIGHEST MEAN AND SPANISH THE LOWEST MEAN SCORE. A CRITICAL RATIO WAS RUN BETWEEN THE OVERALL MEAN OF THE LANGUAGE GROUPS AND THE CONTROL GROUP MEAN AND FOUND TO BE NON-SIGNIFICANT (.05).

TABLE III-0-1
MEAN SCCRE BY GROUP

I.Q. INTERVAL	FRENCH	*ITALIAN	SPANISH	CONTROL
92 то 115	88.9	the day	87.3	86.0
116 то 125	92.1	alia dip	88.9	81.8
126 то 168	90.2	<b>474 946</b>	91.0	91.3
	90.4	WA 64	89.0	86.4

<sup>\*</sup> ITALIAN DID NOT HAVE ENOUGH MALE STUDENTS IN EACH CELL.



## TABLE III-P CITIZENSHIP EDUCATION - TEACHER GRADES GRADE 3 - MALES

SOURCE	SUM OF SQUARES	DEGREES OF FREEDOM	VARIANCE	F
INTELLIGENCE	208	2	104.0	2.71 (N.S.)
LANGUAGE	1046	2	<b>523.</b> 0	13.58 (.01)
INTERACTION	328	4	82.0	2.13 (N.S.)
WITHIN	2774	72	38.5	
TOTAL	4356	80		

Table 111-P indicates that for 3rd Grade Citizenship Education Teacher Grades for the Males, 1.Q. Level was not a significant factor (.05).
By inspecting the 1.Q. means it was seen that the higher 1.Q. children had higher Citizenship Education scores. The Experimental Language (vs. Control) group source showed a significance at the (.01) level. No significant interaction (.05) was found between intelligence and the Experimental Language (vs. Control) group. An inspection of the means in Table 111-P-1 revealed that the overall mean scores of the Experimental groups were higher than that of the Control group. Of the Experimental group French had the highest mean and Spanish the Lowest mean score. A critical ratio was run between the overall mean of the Language groups and Control group mean and found to be Non-Significant (.05).

. TABLE III-P
MEAN SCCRE BY GROUP

I.Q INTERVAL	FRENCH	*ITALIAN	SPANISH	CONTROL
92 то 115	91.2		86.7	81.1
116 то 125	92.9		90.4	80.2
126 то 168	92.9	enth. Area	87.8	89.3
	92.3	~ _,	88.5	83.6

TALIAN DID NOT HAVE ENOUGH MALE STUDENTS IN EACH CELL



## TABLE III-Q SCIENCE - TEACHER GRADES GRADE 3 - MALES

SOURCE	SUM OF SQUARES	DEGREES OF FREEDOM	VARIANCE	F
INTELLIGENCE	233	2	116.5	4.09 (.05)
LANGUAGE	659	2	329.5	11.56 (.01)
INTERACTION	266	4	66.5	2.33 (N.S.)
WITHIN	2055	72	28.5	a compression — designation or compression or compression and compression of the compress
TOTAL	3213	80		

TABLE III-Q INDICATES THAT FOR 3RD GRADE SCIENCE - TEACHER GRADES FOR THE MALES, I.Q. LEVEL WAS A SIGNIFICANT FACTOR (.05). BY INSPECTING THE IQ. MEANS IT WAS SEEN THAT THE HIGHER I.Q. CHILDREN HAD HIGHER SCIENCE SCORES. THE EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP SOURCE SHOWED A SIGNFICANCE AT THE (.01) LEVEL. NO SIGNIFICANT INTERACTION (.05) WAS FOUND BETWEEN INTELLIGENCE AND THE EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP. AN INSPECTION OF THE MEANS IN TABLE III-Q-1 REVEALED THAT THE OVERALL MEAN SCORES OF THE EXPERIMENTAL GROUPS WERE HIGHER THAN THAT OF THE CONTROL GROUP. OF THE EXPERIMENTAL GROUP FRENCH HAD THE HIGHEST MEAN AND SPANISH THE LOWEST MEAN SCORE. A CRITICAL RATIO WAS RUN BETWEEN THE OVERALL MEAN OF THE LANGUAGE GROUPS AND THE CONTROL GROUP MEAN AND FOUND TO BE NON-SIGNIFICANT (.05).

TABLE III-Q-1
MEAN SCCRE BY GROUP

i	I.Q. INTERVAL	FRENCH	*ITALIAN	SPANISH	CONTROL
	92 то 115	90.1	50m mm	87.8	81.1
	116 то 125	92.2	UNA TAND	90.0	83.0
	126 то 168	92.6		87.8	90.4
		91.8	200	88.8	84.8

<sup>\*</sup> ITALIAN DID NOT HAVE ENOUGH MALE STUDENTS IN EACH CELL.



## TABLE III-R READING - TEACHER GRADES GRADE 3 - FEMALES

SOURCE	SUM OF SQUARES	DEGREES OF FREEDOM	VARIANCE	F
INTELL I GENCE	164	2	82.0	4.45 (.05)
LANGUAGE	376	3	125.3	6.81 (.01)
INTERACTION	92	6	15.2	.81 (N.S.)
WITHIN	2877	156	18.4	
TOTAL	3509	167		

TABLE III-R INCICATES THAT FOR 3RD GRADE READING - TEACHER GRADES FOR THE FEMALES I.Q. LEVEL WAS A SIGNIFICANT FACTOR (.05). BY INSPECTING THE I.Q. MEANS IT WAS SEEN THAT THE HIGHER I.Q. CHILDREN HAD HIGHER READING SCORES. THE EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP SOURCE SHOWED A BIGNIFICANCE AT THE (.05) LEVEL. NO SIGNIFICANT INTERACTION (.05) WAS FOUND BETWEEN INTELLIGENCE AND THE EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP. AN INSPECTION OF THE MEANS IN TABLE III-R-1 REVEALED THAT THE OVERALL MEAN SCORES OF THE EXPERIMENTAL GROUPS WERE HIGHER THAN THAT OF THE CONTROL GROUP. OF THE EXPERIMENTAL GROUP FRENCH HAD THE HIGHEST MEAN AND SPANISH THE LOWEST MEAN SCORE. A CRITICAL RATIO WAS RUN BETWEEN THE OVERALL MEAN OF THE LANGUAGE GROUPS AND THE CONTROL GROUP MEAN AND FOUND TO BE NON-SIGNIFICANT (.05).

TABLE III-R-1
MEAN SCORE BY GROUP

I.Q. INTERVAL	FRENCH	ITALIAN	SPANISH	CONTROL
92 то 115	92.6	92.7	92.2	87.3
116 то 125	93.0	91.5	96.7	88.5
126 то 168	93.3	94.1	93.2	87.3
	93.0	92.6	92.3	89.3



# TABLE III-S LANGUAGE ARTS TEACHER GRADES GRADE 3 - FEMALES

SOURCE	SUM OF SQUARES	DEGREES OF FREEDCM	VARIANCE	F
INTELLIGENCE	113	2	56.5	2.66 (N.S.)
LANGUAGE	232	3	97.3	3.65 (.05)
INTERACTION	162	6	27.0	1.27 (N.S.)
WITHIN	3314	156	21.2	
TOTAL	3821	167		

TABLE 111-S INDICATES THAT FOR 3RD GRADE LANGUAGE ARTS - TEACHER GRADES FOR THE FEMALES, 1Q. LEVEL WAS NOT A SIGNIFICANT FACTOR (.01). BY INSPECTING THE 1.Q. MEANS IT WAS SEEN THAT THE HIGHER 1.Q. CHILDREN HAD SLIGHTLY HIGHER LANGUAGE ARTS SCORES. THE EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP SOURCE SHOWED SIGNIFICANCE (.05). NO SIGNIFICANT INTERACTION (.05) WAS FOUND BETWEEN INTELLIGENCE AND THE EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP. AN INSPECTION OF THE MEANS IN TABLE 111-S-1 REVEALED THAT THE OVERALL MEAN SCORES OF THE EXPERIMENTAL GROUPS WERE HIGHER THAN THAT OF THE CONTROL GROUP. OF THE EXPERIMENTAL GROUP SPANISH HAD THE HIGHEST MEAN AND ITALIAN THE LOWEST MEAN SCORE. A CRITICAL RATIO WAS RUN BETWEEN THE OVERALL MEAN OF THE LANGUAGE GROUPS AND THE CONTROL GROUP MEAN AND FOUND TO BE NON-SIGNIFICANT (.05).

TABLE III-S-1
MEAN SCORE BY GROUP

1.Q. INTERVAL	FRENCH	ITALIAN	SPANISH	CONTROL
92 то 115	90.0	92.4	90.9	86.1
<b>1</b> .16 to 125	91.6	90.2	91.8	90.4
126 то 168	91.9	91.9	93.2	90.2
	91.2	91.5	92.0	88.8



SOURCE	SUM CF SQUARES	DEGREES CF FREEDCM	VARIANCE	F
INTELLIGENCE	138	2	69.0	3.40 (.05)
LANGUAGE	153	3	51.0	2.51 (N.S.)
INTERACTION	210	6	35.0	1.72 (N.S.)
WITHIN	3173	153	20.3	
TOTAL	3674	167		

TABLE 111-T INDICATES THAT FOR 3RD GRADE ARITHMETIC - TEACHER GRADES FOR THE FEMALES, 1.Q. LEVEL WAS A SIGNIFICANT FACTOR (.01). BY INSPECTING THE 1.Q. MEANS IT WAS SEEN THAT THE HIGHER 1.Q. CHILDREN HAD HIGHER ARITHMETIC SCORES. THE EXPERIMENTAL LANGUAGE (vs. Control) GROUP SOURCE SHOWED NON-SIGNIFICANCE (.05). NO SIGNIFICANT INTERACTION (.05) WAS FOUND BETWEEN INTELLIGENCE AND THE EXPERIMENTAL LANGUAGE (vs. CONTROL) GROUP. AN INSPECTION OF THE MEANS IN TABLE 111-T-1 REVEALED THAT\*THE OVERALL MEAN SCORES OF THE EXPERIMENTAL GROUP WERE HIGHER THAN THAT OF THE CONTROL GROUP. OF THE EXPERIMENTAL GROUP, SPANISH HAD THE HIGHEST MEAN WITH ITALIAN THE LOWEST MEAN SCORE. A CRITICAL RATIO WAS RUN BETWEEN THE OVERALL MEAN OF THE LANGUAGE GROUPS AND THE CONTROL GROUP MEAN AND FOUND TO BE NON-SIGNIFICANT (.05).

TABLE III-T-1
MEAN SCCRE BY GROUP

I.Q. INTERVAL	FRENCH	ITALIAN	SPANISH	CONTROL
92 то 115	88.4	87.9	88.7	83.8
116 то 125	90.6	82.0	89.5	87.7
126 то 168	88.6	89.3	90.3	89.7
	89.2	88.2	89.5	87.1



## TABLE III-U CITIZENSHIP EDUCATION - TEACHER GRADES GRADE 3 - FEMALES

SOURCE	SUM OF SQUARES	DEGREES OF FREEDCM	VARIANCE	F .
INTELLIGENCE	61	2	30.1	0.88 (N.S)
LANGUAGE	456	3	152.0	4.44 (.05)
INTERACTION	65	6	10.8	0.32 (N.S.)
WITHIN	5312	156	34.0	
TOTAL	5894	167		

TABLE 111-U INDICATES THAT FOR 3RD GRADE CITIZENSHIP EDUCATION - TEACHER GRADES FOR THE FEMALES, 1.Q. LEVEL WAS A SIGNIFICANT FACTOR (.01). BY INSPECTING THE 1.Q. MEANS IT WAS SEEN THAT THE HIGHER 1.Q. CHILDREN HAD SLIGHTLY HIGHER CITIZENSHIP EDUCATION SCORES. THE EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP SOURCE SHOWED A SIGNIFICANCE AT THE (.05) LEVEL. NO SIGNIFICANT INTERACTION (.05) WAS FOUND BETWEEN INTELLIGENCE AND THE EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP. AN INSPECTION OF THE MEANS IN TABLE 111-U-1 REVEALED THAT THE OVERALL MEAN SCORES OF THE FRENCH AND SPANISH EXPERIMENTAL GROUPS WERE HIGHER WITH ITALIAN BEING SLIGHTLY LOWER THAN THAT OF THE CONTROL GROUP. A CRITICAL RATIO WAS RUN BETWEEN THE OVERALL MEAN OF THE LANGUAGE GROUPS AND THE CONTROL GROUP MEAN AND FOUND TO BE NON-SIGNIFICANT (.05).

TABLE III-U-1
MEAN SCCRE BY GROUP

I.Q. INTERVAL	FRENCH	ITALIAN	SPANISH	CONTROL
92 то 115	90.4	90.1	90.0	85.4
116 то 125	90.7	88.1	88.0	85.9
126 то 168	90.7	90.4	89.6	87.8
	90.9	89.6	89.2	86.4



## TABLE III-V SCIENCE - TEACHER GRADES GRADE 3 - FEMALES

SOURCE	SUM OF SQUARES	DEGREES OF FREEDOM	VARIANCE	F
INTELLIGENCE	85	2	42.5	1.23 (N.S.)
LANGUAGE	399	3	133.0	3.87 (.05)
INTERACTION	80	66	13.3	.39 (N.S.)
WITHIN	5376	156	34.4	
TOTAL	5940	167		

TABLE III-V INDICATES THAT FOR 3RD GRADE SCIENCE - TEACHER GRADES FOR THE FEMALES, i.Q. LEVEL WAS NOT A SIGNIFICANT FACTOR (.05). BY INSPECTING THE I.Q. MEANS IT WAS SEEN THAT I.Q. VS. SCIENCE DID NOT HAVE A SPECIFIC DIRECTIONAL EFFECT. THE EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP SOURCE SHOWED A SIGNIFICANCE AT THE (.05) LEVEL. NO SIGNIFICANT INTERACTION (.05) WAS FOUND BETWEEN INTELLIGENCE AND THE EXPERIMENTAL LANGUAGE (VS. CONTROL) GROUP. AN INSPECTION OF THE MEANS IN TABLE III-V-1 REVEALED THAT THE SCORES OF THE EXPERIMENTAL GROUPS WERE HIGHER THAN THAT OF THE CONTROL GROUP. OF THE EXPERIMENTAL GROUP SPANISH HAD THE HIGHEST MEAN AND ITALIAN THE LOWEST MEAN SCORE. A CRITICAL RATIO WAS RUN BETWEEN THE OVERALL MEAN OF THE LANGUAGE GROUPS AND THE CONTROL GROUP MEAN AND FOUND TO BE NON-SIGNIFICANT (.05).

TABLE III-V-1
MEAN SCORE BY GROUP

I.Q. INTERVAL	FRENCH	ITALIAN	SPANISH	CONTROL
92 TO 115	88.6	90.1	90.7	84.6
116 то 125	88.8	86.8	88.2	84.9
126 то 168	89.6	89.2	89.5	87.0
	89.1	88.7	89.3	85.5



APPENDIX B

THE TOTAL NUMBER OF CHILDREN WHO WERE DROPPED FROM THE FOREIGN LANGUAGE PROGRAM WAS 178; 94 MALES, 84 FEMALES. (SEE TABLE D-1).

TABLE D - 1
STUDENTS DROPPED FROM FCREIGN LANGUAGE BY LANGUAGE

	MALES		FE	<b>FEMALES</b>		TOTAL	
FRENCH	#	4,	#	<b>%</b>	#	80	
FRENCH	29	30.9	27	32.1	56	31.6	
GERMAN	3	3.2	2	2.4	5	2.8	
ITALIAN	16	17.0	12	14.3	28	15.7	
SPANISH	.46	48.9	43	51.2	89	49.9	
TOTAL	94	100.0	84	100.0	178	100.0	

OF THE MALES 29 WERE DROPPED FROM THE FRENCH PROGRAM, 3 FROM THE GERMAN, 16 FROM ITALIAN AND 46 FROM SPANISH. OF THE FEMALES, 27 WERE DROPPED FROM FRENCH, 2 WERE DROPPED FROM GERMAN, 12 FROM ITALIAN AND 43 FROM SPANISH. THE SMALL NUMBER OF STUDENTS DROPPED FROM GERMAN IS CONSISTANT WITH THE SMALL NUMBER OF STUDENTS TAKING GERMAN.

OF THE STUDENTS DROPPED IN FOREIGN LANGUAGE THOSE DROPPED WHILE IN THE SECOND GRADE (SEE TABLE D-11) WERE 38% males; were 32% females.

TABLE D - 11

STUDENTS DROPPED FRCM FOREIGN LANGUAGE BY GRADE

	$\overline{\nu}$	MALES		FEMALES		OTAL
GRADE 1	# 19	<u>%</u> 20.2	<u>#</u> 19	<u>4</u> 22.6	<u>#</u> 38	% 21.3
GRADE 2	36	38.3	27	32.1	63	35.4
GRADE 3	17	18.1	19	22.6	36	20.2
GRADE 4	9	9.6	10	11.9	19	10.7
GRADE 5	11	11.7	6	7.1	17	9.5
GRADE 6	. 2	2.1	3	<u>3.6</u>	5	2.8
TOTAL	94	100.0	84	99.9	178	99.9

For the remaining grades, the percentage of students who dropped were: First grade males 20%, females 23%; Third grade males 18%, females 23%; Fourth grade males 9%, females 11%; Fifth grade males 12%, females 7%; Sixth grade males 2%, females 4%. These percentages indicate that Language study in the Early grades is not more difficult for boys than for girls.

IN CONSIDERING THE CAUSES FOR DROPOUTS, (SEE TABLE D-111) 72% OF THE STUDENTS WERE DROPPED FROM FOREIGN LANGUAGE STUDY BECAUSE OF FOREIGN LANGUAGE TEACHER RECOMMENDATION; THIS WAS USUALLY DUE TO POOR PERFORMANCE IN THE FOREIGN LANGUAGE.

TABLE D - III

REASONS FOR FOREIGN LANGUAGE DROP OUT

		M	ALES	FE	MALES	Ţ	OTAL
		#	7	<u>#</u>	8.2.4	#.	. %
PARENTAL	REQUEST	4	4.2	2	2.4	6	3.4
HOMEROOM	TEACHER	13	13.8	10	11.9	23	12.9
LANGUAGE	TEACHER	68	72.3	61	72.6	129	<b>72.</b> 5
LANGUAGE & PARENTA		3 ST	3.2	**	-	3	1.7
HOMEROOM LANGUAGE		8 5	5 <b>.3</b>	7	8.3	12	6.7
OTHER		1	1.1	4	4.8	_5	2.8
TOTAL		94	<b>9</b> 9•9	84	100.0	178	100.0

The students classroom teachers requested the drop in 14% of the cases for the males, and 11% of the cases for the fraction. This recommendation was made when the teacher felt that per carance in other subject areas was lowered. In the remaining cases, the students were dropped because of a joint decision of classroom and language teacher (males 5%, females 8%), parental request (males 4%, females 2%) and other (males 1%, females 5%).



APPENDIX C

### SAMPLE

ERIC

THE STUDENTS WERE FIRST CLASSIFIED ACCORDING TO TOTAL 1.Q. SCORE AS OBTAINED FROM THE STUDENTS IN THE 1ST GRADE. ON THE BASIS OF AN 1.Q. DISTRIBUTION OF SCORES THE 1.Q. SCORES WERE SPLIT INTO A LOWER, MIDDLE AND UPPER INTERVALS. THE INTERVALS WERE AS FOLLOWS:

92 то 115 116 то 125 126 то 168

THE SAMPLE SIZE FOR BOTH EXPERIMENTAL AND CONTROL GROUPS IN ALL CLASSIFICATIONS VARIED IN SIZE DUE TO THE NUMBER OF STUDENTS TAKING COURSES, AVAILABILITY OF RECORDS AS WELL AS THE CRITERIA CONDITIONS FOR STUDENTS INCLUDED IN THE CONTROL GROUP.

### SECOND GRADE - ACHIEVEMENT \* 5

### CONTROL GROUP

TABLE A - II - 1

	MALES	FEMALES	TOTAL
UPPER	12	9	21
MIDDLE	20	13	33
LOWER	19	11	30
TOTAL	51	23	84

### EXPERIMENTAL GROUP - FRENCH

TABLE A - 11 - 2

	MALES	FEMALES	TOTAL
UPPER	33	59	92
MIDDLE	13	45	58
LOWER	10	15	25
TOTAL	56	119	175

### EXPERIMENTAL GROUP - ITALIAN

TABLE A - 11 - 3

	MALES **	FEMALES	TOTAL
UPPER	30	32	62
MIDDLE	7	22	29
LOWER	2	20	22
TOTAL	39	74	113

### EXPERIMENTAL GROUP - SPANISH

TABLE A - 11 - 4

	MALES	FEMALES	TOTAL
UPPER	41	44	85
MIDDLE	27	45	72
LOWER	28	50	78
TOTAL	96	139	235

- \* RECORDS WERE COMPLETE FOR ALL STUDENTS, THEREFORE TOTAL STUDENT COUNT WILL NOT ALWAYS BE THE SAME.
- \*\* TALIAN DID NOT HAVE ENOUGH MALE STUDENTS IN EACH CELL.



### SECOND GRADE - TEACHER GRADES\*

### CONTROL GROUP

TABLE A - 11 - 5

	MALES	FEMALES	TOTAL
UPPER	13 L	13	26
MIDDLE	13	15	28
LOWER	13	13	26
TOTAL	39	41	80

#### EXPERIMENTAL GROUP - FRENCH

TABLE A - 11 - 6

	MALES	FEMALES	TOTAL
UPPER	38	62	100
MIDDLE	14	45	59
LOWER	10	16	26
TOTAL	62	123	185

### EXPERIMENTAL GROUP - ITALIAN

TABLE A - 11 - 7

	MALES **	FEMALES	TOTAL
UPPER	30	35	65
MIDDLE	7	24	31
LOWER	2	20	22
TOTAL	39	79	118

### EXPERIMENTAL GROUP - SPANISH

TABLE A - 11 - 8

	MALES	FEMALES	TOTAL
UPPER	45	50	95
MIDDLE	28	49	77
LOWER	28	52	80
TOTAL	101	151	252

- \* RECORDS WERE COMPLETE FOR ALL STUDENTS, THEREFORE TOTAL STUDENT COUNT WILL NOT ALWAYS BE THE SAME.
- \*\* ITALIAN DID NOT HAVE ENOUGH MALE STUDENTS IN EACH CELL.



### THIRD GRADE - ACHIEVEMENT \*

### CONTROL GROUP

TABLE A - 111 - 1

	MALES	FEMALES	TOTAL
UPPER	25	22	47
MIDDLE	29	22	51
LOWER	27	24	51
TOTAL	81	68	149

### EXPERIMENTAL GROUP - FRENCH

TABLE A - 111 - 2

	MALES	FEMALES	TOTAL
UPPER	24 :	44	68
MIDDLE	9	38	47
LOWER	10	13	23
TOTAL	43	95	138

### EXPERIMENTAL GROUP - ITALIAN

TABLE A - 111 - 3

	MALES**	FEMALES	TOTAL
UPPER	19	26	45
MIDDLE	4	15	19
LOWER	2	18	20
TOTAL	25	59	184

### EXPERIMENTAL GROUP - SPANISH

TABLE A - 111 - 4

	MALES	FEMALES	TOTAL
UPPER	30	29	59
MIDDLE	21	36	57
LOWER	25	42	67
TOTAL	76	107	183

- \* RECORDS WERE COMPLETE FOR ALL STUDENTS, THEREFORE TOTAL STUDENT COUNT WILL NOT ALWAYS BE THE SAME.
- \*\* | TALIAN DID NOT HAVE ENOUGH MALE STUDENTS IN EACH CELL.



### THIRD GRADE - TEACHER GRADES\*

### CONTROL GROUP

TABLE A - 111 - 5

	MALES	FEMALES	TOTAL
UPPER	26	21	47
MIDDLE	22	23	45
LOWER	27	24	51
TOTAL	75	68	133

#### EXPERIMENTAL GROUP - FRENCH

TABLE A - 111 - 6

	MALES	FEMALES	TOTAL
UPPER	26	44	70
MIDDLE	9	38	47
LOWER	10	14	24
TOTAL	45	96	141

### EXPERIMENTAL GROUP - ITALIAN

TABLE A - 111 - 7

	MALES**	FEMALES	TOTAL
UPPER	19	26	1 45
MIDDLE	4	16	20
LOWER	2	19	21
TOTAL	25	61	86

### EXPERIMENTAL GROUP - SPANISH

TABLE A - III - 8

	MALES	FEMALES	TOTAL
UPPER	33	36	69
MIDDLE	23	38	61
LOWER	26	45	71
TOTAL	82	119	201

- \* RECORDS WERE COMPLETE FOR ALL STUDENTS, THEREFORE TOTAL STUDENT COUNT WILL NOT ALWAYS BE THE SAME.
- \*\* ITALIAN DID NOT HAVE ENOUGH MALE STUDENTS IN EACH CELL.



REFERENCES



ADAMS, LILLIAM S., AND BOLTON, F.E. FOREIGN LANGUAGE IN THE GRADES?
N.E.A. JOURNAL 45:444-5, Oct. 1956

ANDERSON, LUCILLE OUT CHILDREN AND AN ALIEN TONGUE. N.Y. STATE ED. 41:529-30, Aug. 1954

ANDERSSON, T. A FOREIGN LANGUAGE BLUEPRINT IN FOCUS. Mod. Lang. J. 46:116-17, May 1962

ANDERSSON, T. AFTER FLES-WHAT? Ed. FORUM, 26:81-6, Nov. 1961

Andersson, T. The Liberal arts and the National Foreign Language Program.

ED. FORUM 21:389-95, May 1957

BAGG, A.H. WHITHER FOREIGN LANGUAGES? N.Y. STATE ED. 41:212-14, DEC. 1953

BIRKMAIER, EMMA MARIE FOREIGN LANGUAGES. REV. OF ED. RES. 28:127-39, FEB. 1958

BOEHM, LENORE AGE AND FOREIGN LANGUAGE TRAINING. MOD. LANG. J. 43:32, June 1959

Bruno, J.R. and Simiches, S.O. Psycholinguistics rational of FLES. Fr. Rev. 35:583-6 May 1962

CARTON, A.S. PROBLEMS OF RESEARCH IN ELEMENTARY SCHOOL FOREIGN LANGUAGE INSTRUCTION. J. of Ed. Soc. 34:366-71 Ap. 1961

CHAVEZ, S.J. PRESERVE THEIR LANGUAGE HERITAGE. CHILDHOOD Ed. P. 165, Dec. 1956

CIOFFARI, V. ROLE OF THE MODERN FOREIGN LANGUAGE IN OUR SCHOOLS.

MOD. LANG. J. 40:302-6, Oct. 1956

Diggs, E.A. Seven keys to foreign Languages in Elementary Schools. Sch. and Community 49:12-13, May 1963

DILLER, E. NATURE OF LINGUISTICS IN THE DIRECT METHOD OF FOREIGN LANGUAGE TEACHING. HISPANIA 44:203-5, Mar. 1961

DUNKEL, H.B. AND PILLET, R.A. FRENCH IN THE ELEMENTARY SCHOOL. Sch. Management 6:77-84, Oct. 1962

EATON, M. FLES YES! MOD. LANG. J. 41:373-5, DEC. 1957

FOLEY, ALICE IMPACT OF ELEMENTARY FOREIGN LANGUAGE ON SECONDARY PROGRAMS BRIGHTON SCHOOLS, ROCHESTER, N.Y. UNPUBLISHED REPORT.

GEISSINGER, J.B. FOREIGN LANGUAGES IN THE ELEMENTARY SCHOOL. AMER. Sch. BD. J. 133:27-9, Aug. 1956

GIEGLE, R.C. EDUCATIONAL NEWS AND EDITORIAL COMMENT. ELEM. Sch. J. 57:18-19, May 1957

GIRARD, D.P., AND SMITH, H.F. FOREIGN LANGUAGE IN THE ELEMENTARY SCHOOL. N.E.A. J. 44:270-1, May 1955

Goudrie, M.V. What about foreign Language in Elementary 8chools? Childhood Ed. 39:320-23, Mar. 1963

GUERRA, M.H. OLD STYLES AND THE NEW LOOK IN FOREIGN LANGUAGES. Mod. LANG. J. 41:15-19, Jan. 1957

HALL, R.D. FOREIGN LANGUAGES IN ELEMENTARY SCHOOLS. N.Y. STATE ED. 46:512-13. May 1959

HANSEN, C.F. TEACHING FOREIGN LANGUAGE IN ELEMENTARY SCHOOLS MAKES SENSE.

THE NATIONS SCHOOLS 59:42-5, July 1954

HASCALL, E. O. PREDICTING SUCCESS IN HIGH SCHOOL FOREIGN LANGUAGE STUDY. PERSONNEL AND GUID. J. 361-364, Dec. 1961

Haydon, C.E. Aural-oral techniques in the teaching of foreign Languages. Hispania 39:468-9, Dec. 1956

HEUBENER, T. FLES SITUATION IN NEW YORK. Mod. Lang. J. 44:128, Mar. 1960

Holmes, J.M. Shall foreign Language BE Taught in the Elementary School?

J. of Teacher Ed. 13:428-30, Dec. 1962

Hoppock, Anne S. Foreign Language in the Elementary School. Mod. Lang. J. 41:269-71, Oct. 1957

HOPPOCK, ANNE S. FOREIGN LANGUAGE IN THE ELEMENTARY SCHOOL. ED. DIGEST 22:9-12, Feb. 1957

Hughes, L.W. Foreign Language in your school - yes or no? <u>Instructor</u> 73:34-5. Feb. 1963

JOHNSON, C.E. ET AL. EFFECT OF FOREIGN LANGUAGE INSTRUCTION ON BASIC LEARNING IN ELEMENTARY SCHOOLS. Mod. Lang. J. 47:8-11, Jan. 1963

Jones, W.K. Making natives of our language students. Hispania 38:229-323 Sept. 1955

KELIHER, ALICE V. "I WONDER AS I WANDER" GRADE TEACHER 76 117, FEB. 1959 KOLBERT, J. FOREIGN LANGUAGE IN THE SELF-CONTAINED CLASSROOM. Mod. LANG. J. 46:319-20, Nov. 1962

KOLBERT, J. AND MASTRONIE, J.A. CONTINUUM CONCEPT IN MODERN LANGUAGES: MODERN LANGUAGES IN THE ELEMENTARY SCHOOL. Mod. Lang. J. 46:315-16, Nov. 1962

LAMBERT, W.E. PSYCHOLOGICAL APPROACHES TO THE STUDY OF LANGUAGE.

PART II ON SECOND LANGUAGE LEARNING AND BILINGUALISM. Mod. Lang. J.

47:114-21, Mar. 1963

LAREW, LEONORA SPANISH FOR ALL. HISPANIA 43:430-33, SEPT. 1960

LEVENSON, S. EUROPEAN EXPERIMENT IN INTERLINGUAL EXCHANGE. Mod. Lang. C. 46:272-73, Oct. 1962

MACRAE, MARGIT TEACHING A SECOND LANGUAGE IN SAN DIEGO ELEMENTARY SCHOOLS. ED. 75:509-12, Ap. 1955

McCormack, Margaret C. The progress of FLES. Ed. 75:498-503, Ap. 1955a

McCormack, Margaret C. Buenos Dias or Bon Jour. Ed. 75:512-24, Ap. 19558

McGrath, E.J. One step toward peace. Ed. Forum 17:389-94, May 1953

Marshall, Mariann; Kays, Elizabeth and Negronida, B.J. Beware the foreign Language Band-Wagon Elem. Scho. J. 61:133-36, Dec. 1960

MILHAUSER, R. FLEXSELSIOR. Mod. LANG. J. 43:19-20, JAN 1959

NATION'S SCHOOLS 68:49, Aug. 1961

PAINE, D.T. Who's to teach my child foreign language? Mod. Lang. J. 46:171-72, Ap. 1962

PENFIELD, W. AND WELSH, K. THE SUPPLEMENTORY AREA OF THE CEREBRAL CORTEX. ARCH. OF NEUR AND PSYCHIAT. 66:289-317, 1951

Prefrer, J.A. One for a wall: two for a gate. Nation's Schools 54:86

PIMISLEUR, P. STUDENT FACTORS IN FOREIGN LANGUAGE LEARNING. Mod. For. Lang. J. 46:160-70, Ap. 1962

RATTE, E.H. FOREIGN LANGUAGE FOR SCME OR FOR ALL. Mod. Lang. J. 41:355, Nov. 1957

SCHOOL REVIEW (EDITORIAL) FUTURE LANGUAGE PROBLEMS. 63:135-38, MAR. 1955

SELVI, A.M. FOREIGN LANGUAGES BELONG IN THE ELEMENTARY SCHOOL. NATION'S SCHOOLS. 52:56-60, SEPT. 1953

SISTER MAY AUSTINA FLES - IT'S HERE TO STAY. CATH Ed. Rev. 58:463-68, Oct. 1960

SISTER ROSEMARY, RSM TEACHING FRENCH IN ELEMENTARY SCHOOL. CATH. Sch. J. 62:29-30, Dec. 1962

SISTER RUTH ADELAIDE FIRST DOOR TO FLES. Mod. LANG. J. 42:172-74, Ap. 1958

Sparkman, C.F. Language, ITS WAY AND ITS SWAY. Mod. Lang. J. 41:320-23 Nov. 1957

STUBBLEFIELD, R.L. CHILDREN'S EMOTIONAL PROBLEMS AGGREVATED BY FAMILY MOVES. AMER. J. ORTHOPSYCHIAT 25:811-18 Jan 1955

SWIATER, MARIA A PARENT LOOKS AT SCHOOL. GRADE TEACHER, 76:142, Oct. 1958

TIREMAN, L.S. AND SINTZ, M.V. FACTORS INFLUENCING LEARNING A SECOND LANGUAGE Ed. 81:310-12 Jan 1961

Unesco Institute for Education Foreign Languages in Primary Education. Sch. and Soceity 90:381-82, Nov. 1962

VACOLS, J.M. FLES REALLY WORKS CLEARING HOUSE 481-83, Ap. 1961

VILLEGAS, VERA FOREIGN LANGUAGES FROM THE FIRST GRADE. Sch. Bd. J. 136:41, Feb. 1948

VON BEKESY, G. THE EAR, SCIENT, AMER. 197:66-74, Aug. 1957

WISCONSIN, J. OF ED. WHAT THE PRESS THINKS ABOUT EDUCATION: FOREIGN LANGUAGE IN THE GRADES. 91:16, Ap. 1959

WOLF, W.C. JR. AND WOLF, WILLAVENE SOCIAL IMPLICATIONS OF FLES. SCH.
AND SOCIETY 90:117-18, Mar. 1962

ZIEGLER, R.B. ON STARTING A FLES PROGRAM. HISPANIA 46:144-45, Mar. 1963